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1.

Given below are four jumbled sentences. Pick the option that gives their correct order.

(A) As soon as she was given the slippers, she broke into a dance strutting around in

her first cver pair of slippers.

(B) This story may scem strange but it is a fact that, in many villages of India, people

don't have anything to put on their feet.

(C) Goonj, a leading NGO of India, runs a Cloth for Work Scheme and gives clothes

and useful items in exchange for work done.

(D) Recently, as part of the scheme, an old lady in a Madhya Pradesh village was given

a pair of slippers.
(1) DACB
(2) CABD
(3) CDAB

(4) DBAC

Given below are four jumbled sentences. Pick the option that gives their correct order.
(A) His death was a cause of great speculation.

(B) Edgar Allan Poe was a famous Americén author.

(C) Within a few days of being found, he died mysteriously on October 7, 1849.

(D) He had gone missing on October 3, 1849 and was fou.nd a few days later.

(1) CDBA

(2) BADC

(3) BCDA

4) DBCA
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Identify the segment in the sentence, which contains. the grammatical crror from the
give option

Last evening my friend tells me the funny joke that I have ever heard.

(1) that T have
(2) ever heard
(3) tells me the funny joke
(4) Last e\.rening my friend

Identify the segment in the sentence, which contains the grammatical error from the
given options.

Having been a student activist once, a politician never forget those days.
(1) apolitician |

(2) never forget

(3) Having been

(4) those days

9. Select the correct passive form of the given sentence.
Did you receive my letter ?
(1) Did my letter was received by you ?
(2) Have you been received by my letter ? -
(3) Was my letter received by you ?

(4) Has my letter been received by you ?

Select the most appropriate word for the given group of words.
The Science which studics the crust of the carth :

(1) zoology

(2) ctymology

(3) biology

(4) geology
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7. 1Select the word which means the same'as the group of words given.
Exercising a compelling charm :
(1 dismissivé' R
S () vapid
(3) charismatic

(4) uninspiring

8. . Select the word which means the same as the group of words given.

Impossible to satisfy :
(1) palatable

(2) insatiable

(3) insane

(4) magnanimous

9. Select the most appropriate meaning of the given idiom.

Full of beans :

(1) being upset .

(2) lively and energetic
(3) full of crazy ideas
(4) in good health

10. Select the most appropriate meaning of the given idiom.

Back to square one :

(1) Come to the original point

(2) Neglect something
3) Draw a square

(4) Move ahead
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11. Choose the most appropriate option to change the narration (direct/indirect) of the
given sentence.

'Let's not go out today. It's going to be a hot day," he said to me.

(1) He suggested that we shouldn't be going out that day as it is going to be a hot day.
(2) He is suggesting that they shouldn't go out today as it was going to be a hot day.
(3) He suggested that we shouldn't go out that day as it was going to be a hot day.

(4) He had suggested that they shouldn't go out today as it was going to be a hot day.

12. Identify the word that is misspelt.
(1) aesthetic
(2) equivocal
(3) catastrophy

(4) ingenious

13.  Select the most appropriate option to fill in the blank.
The Children's Series ................ recommended for young readers.
(1) is
(2) have
(3) are
(4) has

14, Sélect the most appropriate indirect form of the given sentence,
Amit said 10 me, "Your parents are waiting for you."
(1) Amittold me that his parents were waiting for me,
(2) Amit told me that your parents arc waiting for you,
(3) Amit told me that my parents were waiting for me,
(4) Amit asked me if my parents were Wwaiting for me,
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15. " Select the most appropriate antonym of the given word.
CRUCIAL
(1) Stable
(2) Essential
(3) Urgent
(4) Trivial

16. Sclect the most appropriate antonym of the given word.
ENDORSE
(1) Affim
(2) Support
(3) Advocate

- (4) Renounce

17. Select the correct direct form of the given sentence.
He told me not to jump to any conclusion.
(1) He said to me, "Not jump to any conclusion."”
(2) He said to me, "Don't jump to any conclusion."
(3) He told to me, "Don't jump to an)'f conclusion."

(4) He said to me, "Not to jump to any conclusion."

5{ 18. Select the most appropriate option to fill in the blank.
E

He is an honest man and his conduct is .......... suspicion.

(1) over

(2) below

(3) above
(4) against
TYMOBA-EE-2021/(MBA)(SET-Y)/(A) ' “P.T.O.
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19.

sentence. If there is no need to improve it, select 'No improvement'.

He turned a deaf car on the advices of his parents.

(1) No improvement
(2) to the advice.
(3) at the advices

(4) on the advice

20.

sentence. If there is no need to substitute it, select 'No substitution required'.

The Ghats in Banaras were very crowded but we were able to watch the Ganga Aarti

clearly.

(1) No substitution required
(2) but we was

(3) but we are

(4) so we were
Read the given passage and answer the questions 21-25.

Chanhudaro was a tiny settlement (less than 7 hectares) as compared to Mohenjo-Daro (125
hectares), almost exclusively devoted to craft production, including bead-making, shell
cutting, metal-working, scal-making and weight-making. The variety of materials used to

make beads is remarkable : stones like carnelian (of a beautiful red colour), jasper, crystal,

quartz and steatite; metals like copper, bronze and gold; and shell, faience and terracotta or

burnt clay. Some beads were made of two or more stones, cemented together, some of stone
with gold caps. The shapes were numerous ~— disc shaped, cylindrical, spherical, barrel-shapcd,
segmented. Some were decorated by incising or painting, and some had designs etched onto
‘them, Techniques for making beads differed according to the material Steatite, a very soft

stone, was easily worked. Some beads were moulded out of a paste made with steatite

TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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A 7
powder. This permitted making a variety of shapes, unlike the gecometrical forms made out of
harder stones. How the steatite micro bead was made rcmains a puzzle for archacologists
studying ancient technology. Archacologists’ experiments have revealed that the red colour of
carnelian was obtained by firing the ycllowish raw matcrial and beads at various stages of
production. Nodules were chipped into rough shapes, and then finely flaked into the final
form. Grinding, polishing and finally drilling complcted the process. Specialized drills have
been found at Chanhudaro, Lothal and more recently at Dholavira. Nageshwar and Balakot,
both settlements are ncar the coast. These were specialized centres for making shell objects —
including bangles, ladles and inlay — which were taken to other settlements. Similarly, it is
likely that finished products (such as beads) from Chanhudaro and Lothal were taken to the

large urban centres such as Mohenjo-Daro and Harappa.
21. Which of thesc stones is very soft and casy to mould ?
(1) Quartz
(2) Steatite
(3) Jasper
(4) Crystal

22. Which of these statements is nof truc ?
(1) Beads were made in numcrous shapes and sizcs.
(2) Chanhudaro was exclusively devoted to craft production.
(3) Camelian is a beautiful bluish stone.

(4) Harappa and Mohenjo-Daro were large urban centres.

23. Which is the final process in the production of beads ?
(1) Polishing
(2) Drilling
(3) Grinding
(4) Chipping
TYMOBA—(EE-ZUZII(M BA)SET-Y)/(A) P.T.O.
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24.  According to the text, which of these crafts was mof practiced 1

(1) Weight making
(2) Seal making
(3) Metal cutting
(4) Paper making

25. Shell objects were mostly made at Nageshwar and Balakot because :

(1) the women loved to wear bangles made of shells
(2) shell's were readily available iq these coastal areas
(3)_ speciélized drills were found here
4) shell; were transported here from Lothal
26. Find a number such that when 15 is subtracted from 7 times the number, the result
s 10 1n6re than twice the number.

(1) 7
Q)5
3) 6

(4) 8

27. If50% of (x — y) =30% of (x + y), then what percent of x is y?
(1) 25%
(2) 30%
(3) 35%
(4) 40%

TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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28.

29.

30.

31.

If A is 150 pereent of B, then B is what percent of (A +B) ?
(1) 30% |
(2) 40%

(3) 35%

(4) 45%

A person incurs 5% loss by selling a watch for Rs. 1,140. At what price should the
watch be sold to carn 5% profit ?

(1) 1.275

(2) 1.280

(3) 1.260

(4) 1,200

A, B and C entered into a partnership. A invests 3 times as much as B invests and B

invests two-third of what C invests. At the end of the year, the profit earned is Rs. 6600.
What is the share of B ?

(1) 3,600
(2) 1,800
(3) 1,200
(4) None of these

A man in a train notices that he can count 21 telephone posts in one minute. If they are
known 1o be 50 metres apart, then at what speed is the train travelling ?

(1) 55 km/hr
(2) 57 km/hr
(3) 60 km/hr
(4) 63 km/hr

¢ TYMOBA-EE-2021/(MBA)(SET-Y)/(A) P.T.O.
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s 4 . alone can complete the
32. A and B together can complete a piece of work in 4 days. If A alo

hat work ?
same work in 12 days, in how many days can B alone complete t

(1) 6 Days
(2) 15 Days
(3) 8 Days
(4) 5 Days

33. A and B undertake to do a piece of work for Rs. 600. A alone can do it in 6 days while

B alone can do it in 8 days. With the help of C, they finish it in 3 days. Find the
share of B ? :

(1) Rs. 300
(2) Rs.75
(3) Rs. 100
(4) Rs. 225

34. Ifa:b=5:9andb:c=4:7,finda:b:c=
(1) 7:45:36
(2) 28:36:35
(3) 30:35:37
(4) 20:36:63

35. If24=3Band4B=5C,then4: Cis:
(1) 3:4
@) 8:15
(3) 15:8
4) 4:3

TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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26. In what ratio ricc at Rs. 9.30 per kg be mixed with rice at Rs, 10.80 per kg, so that
the mixture be worth Rs. 10 per kg ?
(1) 7:8
(2) 8:7
3) 5:6
4) 6:5
37. There is 60% increase in an amount in 6 years at simplc interest. What will be the
compound interest of Rs. 12,000 after three years at the same rate ?
(1) Rs. 2,160
(2) Rs. 3,120
(3) Rs. 3,972
(4) Rs. 6.240
38. The difference between the compound interest and simple intcrest on a certain sum
at 10% per annum for 2 years is Rs. 631. Find the sum ?
(1) Rs. 60,100
(2) Rs. 61,100
(3) Rs. 63,100
(4) Rs. 62,100

39. A bag contains 6 white and 4 black balls. Two balls are drawn at random. T'ind the

probability that they are of the same colour :
N ONY:
J (2) 7115
(3) 815
' ) 1/9

' TYMOBA-EE-2021/(MBA)(SET-Y)/(A) | N  P.T.O.
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40.  Two dicc are thrown together. What is the probability that the sum of thc numbers

on the two faces is divisible by4or6?
(1) 5736
(2) 5/18
(3) 7118
(4) 7/36
41. How many words can be formed from the letters of the word "DIRECTOR", so that
the vowels are always together ?
(1) 2100
(2) 2260
(3) 2200
(4) 2160
42. In how many ways can a group of 5 men 2 women be made out of a total of 7 men
and 3 women ?
(1) 63
(2) 90
(3) 45 .
(4) None of the above
43. A dishonest milkman prolesses to sell his milk at cost price but he mixes it with water
and thereby gains 25%. The percentage of water in the mixture is 9
(1) 4% |
(2) 16%
(3) 20%

4) 25%
TYMOBA-EE-2021/(MBA)(SET-Y)/(A)




44. When o commodity is sold for Rs, 34,
price of the commodity ?

(1) 36.10 (2) 43

(3) 43.20 (4) 4640
45. R and S arc partners in o business, R

Rs. 42,000 for 10 months. Out of a profit of Rs. 31,570, R's share is .

(1) Rs. 11,235 (2) Rs, 12,028

(3) Rs. 18,225 (4) Rs. 10,253

13

3480, there Is o loss ol 25%, What 18 the cost

nvests Rs, 35,000 for 8 months and 8§ invests

Direction for [Question No. 46 to 50/ : 'The bar graph given below shows the foreign

exchange reserves of a country (in millio
questions from 46-50 based on the following graph,

FOREX RESERVES OF A COUNTRY

(In Million US §)
4320
3720

3120 3120

2520 I I
7 , # 3 #®
“ rh , oh b r ¥
?: g g .: 5 4 8 #

46. The foreign exchange reserves in 1997-98 was how many times that in 1994-95 7
(1) 0.7 |
(2) 1.2
(3) 1.4
(4) 1.5

TYMOBA-EE-2021/(MBA)SET-Y)/(A) IT.O,
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47,

49,

50.

Y

A

in 1997-98 oy
: eserves in | er
What was the pereentage increase in the foreign exchangc res

1993-94 7

(1) 100

(2) 150

(3) 200

(4) 620

For which year, the percent increase of forcign exchange rescrves over the previous
vyear, is the highest ?

(1) 1992-93

(2) 1993-94

(3) 1994-95

(4) 1996-97

The foreign exchange reserves in 1996-97 were approximately what percent of the
average foreign exchange reserves over the period under review ?

(1) 95%

(2) 110%

(3) 1¥5%

(4) 125%

The ratio of number of ycars, in which the foreign exchange reserves are above the
average reserves, to those in which the reserves are below the average reserves is ?
(1) 2:6

(2) 3:4

(3) 3:5

(4) 4:4

TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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Direction for [Question No. 51 & 52]:

A, B, C, D, E, F and G are sitting in a row fac_:ing North :
( 1) F is to the immediate right of E.

(2) E is 4th to the right of G.

‘ (3) C is the neighbour of B and D.

(4) Person who is third to the left of D is at one of ends.

\

51. Whatis thc;, position of A ?
(1) Between E and D
(2) Extreme left
(3) Centre
(4) Extreme rightA

5‘2. Who are the heighbours éf B?
| (1) CandD |
2) Cand G
(3) GandF

(4) CandE

53. Find out the missing no. in the following series :
32,48,72, ......... 162, 243
(1) 84 |
‘(2) 96
(3) 108

(4) 132

TYMOBA-EE-2021/(MBA)(SET-Y)/(A) P.T.O.
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>4 IMBELONGINGS' is coded as "TABLESTESF, then how will you code LINEN' 2
(1) BTEAE
(2) BTAEA
(3) BATEA

(4) None of the above

35. If'FRANCE' is coded as 10-22-5-18-7-9, then how will you code 'INDIA" ?

Based on the above pattern, the answers will be as follows :

(1) 13-17-6-12-4
(2) 13-18-8-13-5
(3) 12-17-7-12-5

(4) None of the above

56. Choose the word that is least like the other words in a group ?

(1) Calendar
(2) Date
(3) Day

(4) Month

57. Fruit:Banana:: Mammal : ?
(1) Snake
(2) Fish
(3) Sparrow
4) Cow
TYMOBA-EE-MZII(MBA)(SE']‘-Y)!(A)
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58. Looking at a picture of a boy, Hemant said. "His mother is the wifc of my father's son.

Brothers and sisters T have none.” At whose picture was Hemant looking ?

(1) His cousin
(2) His son

(3) Hisuncle
(4) His nephew

Direction for [Question No.

59 & 60] : Study the following information carcfully to answer
these gquestions.

A.B.C. D, E, F and G are members of a sports club and have liking for different games, viz
Carrom. Table Tennis, Badminton, Bridge, Hockey, Football and Lawn Tennis but not
necessarily in the same order. Each one of them has a liking for different musical instruments,
viz Sitar, Guitar, Harmonium, Flute, Tabla. Banjo and Santoor, not necessarily in the same
order. B likes Carrom and Banjo. E likes to play Bridge but not Harmonium or Tabla. The one
who plays Hockeyv plays Sitar. F plays Guitar but not Table Tennis or Lawn Tennis. A plays

Badminton and Flute. The one who plays Lawn Tennis does not play Tabla. C plays
Harmonium and G plays Hockey.

59. D plays which game ?
(1) Table Tennis
(2) Lawn Tennis
(3) Football

(4) Cannot be determined

60. Who plays Santoor ?
(1) D
(2) A
(3) G
(4) E
TYMOBA-EE-2021/(MBA)SET-Y)/(A) P, T.O.
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61. Find out the missing no. in the following series :
2,5,8,11,14,17,......... , 23, 26,
M1
(2) 21
(3) 20
4) 18

Direction for [Question No. 62 & 63] : Each question given below consists of a statement,

followed by two arguments numbered I and II. You have to decide which of the arguments is
a 'strong’ argument, -

62. Statement : Should higher education be completely stopped for some time ?

Arguments : 1. No. It will hamper the country's future progress.

Il Yes. It will reduce the educated unemployment,

(1) Only argument I is strong
(2) Only argument II is strong
(3) Either I or II is strong

(4) Neither I nor Il is strong -

63. Statement: Should children be Iegally:made responsible to take care of their parents

during their old age ?
Arguments: 1. Yes. Such matter can only be solved by legal means.

II. Yes. Only this will bring some relief to poor parents.

(1) Only argument I is strong
(2) Only argument II is strong
(3) Either I or I is strong

(4) Neither I nor Il is strong.
TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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64. Kanmani ranked sixteenth from the top and twenty ninth from the bottom among those
who passed an examination. Six boys did not participate in the competition and five

failed in it. How many boys were there in the class ?
(1) 35
(2) 45
(3) 50

(4) 55

65. In a row of girls, Nithya and Suganya occupy ninth place from the right end and tenth
place from the left end, respectively. If they interchange their places, then Nithya and
Suganya occupy seventeenth place from the right and eighteenth place from the left
respectively. Ilow many girls are there in the row ?

(1) 22

(2) 24

T T ARSI SR BT T A e T Ny "
. 7

(3) 26

(4). 28

e e N S (T WP I

Statements ;: 1. Standard of living among the middle-class society is constantly going

o))
o

up since part of few years.
II. Indian Economy is observing remarkable growth.
(1) Statement I is the cause and statement IT is its effect.
(2) Statement Il is the cause and statement 1 is its effect.
(3) Both the statements I and II are independent causes.

r (4) Both the statements 1 and IT are effects of independent causes.

) 3
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67. Statements: I. The meteorological Department has issued a statcment mentioning

deficient rainfal] during monsoon in many parts of the country.

; - growth
II.  The Government has lowered the revised estimated GDP grov

from the level of carlier estimates.
(1) Statement I is the cause and statement 11 is its effect.
(2) Statement II is the cause and statement [ is its effect.
(3) Both the statements I and II are independent causes.
(4) Both the statements I and II are effects of independent causes.

68. Suman walks 15 km towards North. She turns right and walks another 15 km. Shc turns

right and walks another 15 km. In which direction is she from the starting point ?

(1) North
(2) South
(3) East

A (4) West

69. Ravi walks 8 km North-East and then 6 km South-East. Find the total distance as wel]

as shortest distance between starting and end points.
(1) 14 km, 12 km

(2) 14 km, 10 km

(3) 10km, 8 km

(4) 8 km, 6 km
TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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Direction for [Qluestion‘No. 70 & 71] : Arrange the following in a logical order:

70.

71.

72.

73.

74.

75.

1. Birth | : 2. Death
3. Funeral 4, Marriage
5. Education

(1) 1,3,4,5,2 (2) 2,3,4,5,1 (3) 1,5,4,2,3 4) 4,5,3,1,2

I. Childhood ' 2. Adulthood
3. Infancy 4. Adolescence
5. Babyhood

(l) 43 1539 215 (2) 35 55 13492 (3) 2: 59 13433 (4) 5’ 4’ 2’ 3’ 1

If the following words are arranged in reverse dictionary order, which word comes
second ?

(1) Explosion (2) Express (3) Exploit (4) Expulse

Six friends A, B, C, D, E and F are sitting in a closed circle facing the center. E is to

the left of D. C is between A and B. F is between E and A. Who is to the right of C ?
(1) A (2) B (3) D (4) E

Choose the missing term out of the given alternatives : QPO, NML, KJI, ......... .
(1) HOF (2) CAB (3) JKL (4) GHI

Statement I : The Millennium Development Goals were adopted in the United
Nations in the year 2010.

Statement II : Developing a global partnership for development was one of the

Millennium Development Goals.
Which of the above statements is/are correct ?
(1) OnlyI
(2) Only II
(3) Both I and Il
(4) NeitherI nor 11

TYMOBA-EE-2021/(MBA)(SET-Y)/(A) - . : -+ P.7T: O.



22

76.

77.

78.

79.
"~ Day'?

80.

A

i m operator in Ing;
Which of the following telecom operator becoming the first teleco ndiy

to demonstrate & orchestrate 5G services successfully ?
o NL
(1) Airtel 2) Jio 3) Vi (4) BS

MR & & i qrear offqer 5G AT B HEENL TR o

Wmmwwmmmaﬁmﬁw%?

(U.@"@H (2) T (3) femg (4) STHCTCT
Martyr's Day or Shaheed Diwas is observed every year on in the memory of
Mahatma Gandhi.

(1) 26 January ~ (2) 27 January ~ (3) 28 January  (4) 30 January

TERR 3 A1 s Raw & ad mewm Wil B &Ry o Dl T
ST B | -

(1) 26 St (2) 27 sTady (3) 28 STEr (4) 30 Seadl

What is the rank of India in 'Asia-Pacific Personalised Health Index' in 2021 ?.

(1) 6th , (2) 7th (3) 10th - (4) %th
2021ﬁ'§f§ Uit qeveTEvs 3o 39 ¥ 9T o7 Y T 7
(1) 6df 2) 74t O (3) 10a (4) 9t

P.M. Modi has declared to observe which day as the "Partition Horrors Remembrance

() 14August () ISAugust  (3) 16 August  (4) 13 August

aoqqo:ﬂaaﬁmﬁqaﬁr-ﬁwwqﬁrm'%mﬁma%m
HE?

(1) 14 ST (2) 15 ST (3) 16 sy

Anandha Kannan passed away recently. He was a/an

(1) Politician (2) Journalist (3) Actor (4) Environmentalist
AMT B H & & A Fem & mmigw e T |
(1) i (2) R () T (4) et
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g81. Which of the following city has become the first Indian city to achieve 100 per cent
Covid-19 vaccination ?

(1) Imphal . (2) Bhubaneswar (3) Indore (4) Surat

frefafad § @ $-ar 9w 100 gied @HRs-19 SeeT < HE ar
Bl ARG 8T g9 T R 7

(1) ST (2) e (3) £ (4) gz
82. The Union Ministry for Science & Technology has released "Biotech-PRIDE
Guidelines". .
Who is the present Union Minister for Science & Technology ?
(1) Jitendra Singh | (2) Rao Inderjit Singh
(3) Shripad Yesso Naik . (4) Faggan Singh Kulaste

F fem ol TR dawm X 'arRe-ags Renfeer S R g
i 3 e R SR 5 AT ¥ 2

(1) Rrax Ris (2) 9 Zxsia [&e
(3) #ug AG T (4) B Ri gered
83. How maﬂy Indian companies features in the 2021 Fortune's Global 500 list ?
(1 11 () 5 (3) 3 “4) 7
2021 wredH @ e 500 g # fhadl WRelg wufar i § 7
(1) 11 @5 (3) 3 4) 7
84. Which was the first State to be created on linguistic basis ?
(1) Madras (2) Punjab . (3) Andhra Pradesh (4) Gujarat
A SR U S AT 98al o9 HIF-87 o7 ?
(1) F=19 R EIE] (3) oTim W (4) oI
85. On which among the following dates, execution of Bhagat Singh took place ?
(1) 19 March, 1931 (2) 23 April, 1931
(3) 23 March, 1931 (4) 14 March, 1931
fr=faRad # 9 g ailfg &1 W e & Bt &) 7 ofy ?
(1) 19 7, 1931 (2) 23 ama, 1931
(3) 23 |, 1931 (4) 14 7, 1931

TYMOBA-EE-2021/(MBA)(SET-Y)/(A) - P.T.O.
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- 86. The planned '‘Bedabahal Ultra Mega Power Project' is in which of the following states 7

(1) Jharkhand = (2) Odisha (3) West Bengal  (4) Tamil Nadu
TR Sereet orgr F dax Sowe PreRies § @ R woa F B 7
(1) siRwEe (2) affEem 3) ufymA s (4) Ty

87. What is the maximum gap/interval between two sessions of parliament ?

~ (1) 30 days ~(2) 50 days (3) 6 months (4) 12 months

S & A A B F v R, /owe o 2 7
(1) 30 R 2) 50 (3)6 e @ 12 e

88. Which article of the Indian Constitution says that directive pfinciples are not
enforceable by any court ? .
(1) Article 36 (2) Article 37 (3) Article 38 (4) Article 39
Wﬁ%mwﬁw-maﬂ@zm%%ﬁ%&mmm%ﬂm
&N A0 787 g 51wy ¥ 7
(1) oIg== 36 (2) egdT 37 (3) FIBVI 38 (4) =T 39

89. The makers of Constitution of India choose the scheme of federation of India, as
prevalent in which among the following countries ?
(1) United States (2) United Kingdom
(3) Australia (4) Canada :
W%ﬁ%ﬂﬁﬁﬂﬁﬂﬁ%ﬁ%ﬁﬁ%%ﬂﬁ%ﬁ#ﬂ?ﬁuﬁaaﬁ
AISTAT Y AT ?
(1) |3 o9 om@Re (2) IS fprsw
() R () F

90.

Which organization has decided to formulate Digital Payment Index ?

(1) "NITI Aayog (2) RBI (3) NPCI (4) SBI

ﬁm@m%%ﬁmw@m%mﬁw%@%?
(1) ST o (2) STREeTE

) TR (4) orreftong
TYMOBA-EE-2021/(MBA)(SET-Y)/(A) e
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91. Which Technology company is set to acquirc US-based product design firm,
Kaleidoscope Innovation ?

(1) Infosys

(2) Amazon

(3) Accenturc

(4) Tata Consultancy Services
B ST T TrE-onaRT SR ReTE o, BRI AT H
Frftreer F37 &% e §aR B 7 |
(1) gwifera
(2) ST
(3) TR
(4)' T FHaced! afFast
92. Which payment system was set to be made available round the clock from December

2020 ?
(1) NEFT
(2) RTGS
(3) Bharat Bill Payment System
(4) Aadhar Enabled Payment System
RdaT 2020 ¥ TG €2 Suwey aXM B T - g wored FreiRd
T A7
(1) THETH
(2) STRErATE
(3) 9Rd Rl I Jomed
(4) ST FEH WA HOTT

TYMOBA-EE-2021/(MBA)(SET-Y)/(A) P.T.O.
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oxi . . x 8 B ics and
93. The RAISE 2020 global summit was organized by Ministry. of Eleciraiics
Information Technology along with which body ?

(1) Department of Science and Technology -
(2) Election Commission of India

(3) National Commission for Women

(4) NITI Aayog

RAISE 7020%%@%@@%%?@%@%
AR gar NP wawerm @y Rea mar o ?

(1) s ofir enfiedr R
(2) R & gAE STENT
(3) Tfg Afgem SN

(4) ST e

94. As per the Times Higher Education (THE) World University Ranking (WUR) 2021

which is the only Indian institution to be in the list of top 350 varsities ?

(1) IIT Bombay

(2) IIM Ahmedabad
(3) AIIMS

(4) 1ISc Bengaluru

T B Oy (& uF 3) acd giaERiE YR (z=g g oR) 2021

® AR,
aﬁé3soﬁsaﬁmﬁaﬁwﬁﬁsnﬁaaﬁwwwmﬁuﬁwmaﬁmm
g7 _ G s
(1) eTgansddt ar "
(2) ITEIMETH STEHETETE
(3) T

(4) STMESTETHH FIFE
TYMOBA-EE-2021/(MBA)(SET-Y)/(A)
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95. - Which personality/institution won the Nobel Peace Prize 2020 ?
. (1) Jacinda Ardern
(2) Greta Thunberg
(3) World Health Organization
(4) UN World Food Programme
AT iRy qRERR 2020 fohe eAfebed / dear ¥ S ?
(1) ST o1
(2) frer gAa
(3) fasg w@ren H1ed
(4) €gw T RAeT @ HEHA

96. Which among the following is a Bank rate ?
(1) The rate at which a Commercial Bank lends to its customers
(2) The rate at which a Commercial Bank lends to its best-customers
(3) The rate at which a Central Bank lends to Commercial Banks .
(4) The rate at which a Commercial Bank lends to Central Bank
Preferfae & & @1 @b ¥% o ? |
(1) g8 =X BE X u& it 6 oTaY TMeH H IU T &
(2) g8 X BE TR TF amieds b U FaRM AEH d IR Al ©
(3) 98 T R W F B5g % aivigs dH B IR T @
(4) 98 =X Br@ ) wh aileiigs db BET G dH SUR T 8

97. In the history of Independent India, a note of highest denomination has been of :

(1) Rs. 5,000 (2) Rs. 1,000

(3) Rs. 2,000 (4) Rs. 10,000

wds AR B foe # I=9ad I @ T A fhde @M 8 7
(1) o 5,000 (2) o 1,000

3) o 2,000 (4) Bo 10,000

TYMOBA-EE-2021/(MBA)(SET-Y)/(A) P.T.O.



28

- 98.

- 99,

100.

Whe:?e is the first Special Economic Zone (SEZ) of Tripura being constructed ?

(1) Agartala (2) Sabroom

(4) Kailashahar
BT N gE fd e S (SEZ) @t e o W B 7
(1) STdem

(3) TR

(3) Dharmanagar

(2) gaEd
(4) SHemeEY

Which Indian social activist was honoured with the U. S. Anti-corruption champions
award 2021 ?

(1) Disha Ravi

(2) Anjali Bharadwaj
(3) Sunitha Krishnan
(4) Prashant Bhushan

WWWWﬂW@—WWWWZOZIﬁ
I frar mar ?

(1) fesm &

(2) ST ARE™
3) g P
(4) wTE T

Which among the following dynastics were ruling over Magadha, when Alexander
invaded India ?

(1) Shisunagas (2) Nandas
(3) Mauryas '(4) Kosalas

Frfafad § @ H-87 oA 7Y 9T STEET B @7 o1, e REE] ¥ SR
U3 SER9OT fohar T ?

(1) fRrgATT | 2) =
(3) Ard (4) e
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Direction for [Question No. 1 & 2] :

. A,B,C,D,E, F and G are sitting in a row facing North :
(1) F is to the immediate right of E.
(2) Eis 4th to the right of G.
(3) Cis the neighbour of B and D.

(4) Person who is third to the left of D is at one of ends.

1. What is the position of A ?
(1) Between E and D
(2) Extreme Icfl
(3) Centre

(4) Extreme right

2. Who arc the ncighbours of B ?
(1) Cand D
(2) Cand G
(3) Gand F
(4) Cand E

3. Find out the missing no. in the following series :
32,48, 72, ......... 162, 243
(1) 84
' (2) 96

{ (3) 108
f 4) 132
| TYMOBA-EE-2021/(MBA)SET-Y)/(B)
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4. If'BELONGINGS' is coded as "TABLESTESF', then how will you code 'LINE,.N' ?
(1) BTEAE
(2) BTAEA
(3) BATEA

(4) Nonc of the above

' . ' o
5. If'FRANCE' is coded as 10-22-5-18-7-9, then how will you code 'INDIA' 7

“Based on the above pattern, the answers will be as follows :

(1) 13-17-6-12-4
(2) 13-18-8-13-5
(3) 12-17-7-12-5

(4) None of the above

6. Choose the word that is least like the other words in a group ?

(1) Calendar
(2) Date
(3) Day

(4) Month

7. Fruit: Banana : : Mammal : ?
(1) Snake
(2) Fish
(3) Sparrow
(4) Cow
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)



8. Looking at a picture of a boy, Hemant said,"His mother is the wife of my father's son.

Brothers and sisters [ have none." At whose picture was Hemant looking ?
(1) His cousin
(2) His son
(3) Hisuncle
. (4) His nephew
Direction for [Question No. 9 & 10] : Study the following information carefully to answer
these questions.

A, B,‘ C, D, E, F and G are members of a sports club and have liking for different games, viz
Carrom, Table Tennis, Badminton, Bridge, chkey, Football and Lawn Tennis but not
necessarily in the same order. Each one of them has a l-iking for different musical instruments,
viz Sitar, Guitar, Harmonium, Flute, Tabla, Banjo and Santoor, not necessarily in the same
order. B likes Carrom and Banjo. E likes to play Bridge but not Harmonium or Tabla. The onc
who plays Hockey plays Sitar. I plays Guitar but not Table Tennis or Lawn Tennis. A plays
Badminton and Flute. The one who plays Lawn Tennis does not play Tabla. C plays

Harmonium and G plays Hockey.
9. D plays which game ?
(1) Table Tennis
(2) Lawn Tennis

(3) Football

(4) Cannot be determined

10. Who plays Santoor ?
(1) D (2) A

©3) G - E
TYMOBA-EE-2021/(MBA)(SET-Y)/(B) - ' P.T.O.




11. Find out the missing no. in the following series :
2,5,8,11,14,17,.......... , 23, 26,
(D) 19
(2) 21
(3) 20
4) 18
Direction for [Question No. 12 & 13] :‘ Each question given below consists of a statement,

followed by two arguments numbered I and II. You have to decide which of thc arguments is

a 'strong' argument.

12. Statement : Should higher education be completely stopped for some time ? |
Arguments: 1. No. It will hamper the country's future progress.
| Il. Yes. It will reduce the educated unemployment.
(1) Only argument I is strong
(2) Only afgument Il is strong
(3) EitherI orII is strong
(4) Neither I nor I is strong
13. Statement: Should children be legally made responsible to take care of their, pafents
during their old age ?
Arguments: 1. Yes. Such matter can only be solved by legal means.
II. Yes. Only this will bring some relief to poor parents.
(1) Only argument I is strong
(2) Only argument II is strong
(3) EitherI or Il is strong

(4) Neither I nor II is strong

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




14. Kanmani ranked sixteenth from the top and twenty ninth from the bottom among those

who passed an examination. Six boys did not participate in the competition and five

failed in it. How many boys were there in the class ?
(1) 35
(2) 45
(3) 50
(4) 55
15. In a row of girls, Nithya and Suganya occupy ninth place from the right end and tenth

place from the left end, respectlvely If they interchange their places, then Nxthya and

Suganya occupy seventeenth place from the right and eighteenth place from the left

respectively. How many girls are there in the row ?
(1) 22
(2) 24
(3) 26
(4) 28
16. Statements : I. Standard of living among the middle-c-lass society is constantly going
| up since part of few years. |
[I. Indian Economy is observing remarkable growth.
(1) Statement I is tﬁc cauée and siatement II is its effect.
(2) Statement II fs the cause and statement I is its effect.
(3) Both the statements I and II are independent causes.
(4) Both the statements I and II are effects of independent causes.

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) I , CPiT. O.




17.

18.

19.

B

) mentionin
Statements : 1.  The meteorological Department has issued a statement g

. untry.
deficient rainfall during monsoon in many parts of the country

II. The Government has lowered the revised estimated GDP growth

from the level of carlier estimates.
(1) Statement I is the cause and statement I1 is its effect.
(2) Statement I1 is the cause and statement I is its effect.
(3) Both the statements I and II are independent causes.
(4) Both the statements I and II are effects of independent causes.
Suman walks 15 km towards North. She turns right and walks another 15 km. She turns
rfght and walks another 15 km. In which direction is she from the starting point ?
(1) North ' (2) South
(3) East (4) West

Ravi walks 8 km North-East and then 6 km South-East. Find the total distance as well

as shortest distance between starting and end points.
(1) 14 km, 12 km

(2) 14 km, 10 km

(3) 10 km, 8 km

(4) 8 km, 6 km

Direction Jor [Question No. 20 & 21] : Arrange the following in a logical order -

20.

1. Birth 2. Death
3. Funeral _ 4. Marriage

5. Education

(1) 1,3,4,52  (2)2,3,451  (3)1,5423 @) 4,5,3,1,2

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




21,

22,

23.

24,

25.

[. Childhood

3. Infancy

5. Babyhood

(1) 4,1,3,2,5
(3) 2,5,1,4,3

2. Adulthood

4. Adolescence

(2) 3,5,1,4,2
(4) 5,4,2,3,1

If the following words arc arranged in reverse dictionary order, which word comes

sccond ?
(1) Explosion
(3) Exploit

(2) Express
(4) Expulse

Six friends A, B, C, D, E and F are sitting in a closed circle facing the center. E is to
the left of D. C is between A and B. T is between E and A. Who is to the right of C ?

(1) A
3) D

(2) B
(4) E

Choose the missing term out of the given alternatives : QPO, NML, KI5 250 v .

(1) HOF
(3) JKL

Statement I :

Statement II :

(2) CAB
(4) GHI

The Millennium Devélopment Goals were adopted in the United
Nations in the year 2010.
Developing a global partnership for development was one of the

Millennium Development Goals.

Which of the above statements is/arc correct ?

(1) OnlyI
(2) Only II

(3) Both I andII

(4) Neither I nor II
TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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26.

27.

; . . . i ct order.
Given below are four jumbled sentences. Pick the option that gives their corre

: : ing around in
(A) As soon as she was given the slippers, she broke into a dance strutting

her first ever pair of slippers.

(B) This story may scem strange but it is a fact that, in many villages of India, people

don't have anything to put on their feet.
(C) Goonj, a leading NGO of India, runs a Cloth for Work Scheme and gives clothes

and useful items in exchange for work done.

(D) Recently, as part of the scheme, an old lady in a Madhya Pradesh village was given

a pair of slippers.

(1) DACB

(2) CABD

(3) CDAB

(4) DBAC

Given below are four jumbled sentences. Pick the option that gives their correct order.
(A) His death was a cause of great speculation.

(B) Edgar Allan Poe was a famous American author.

(C) Within a few days of being found, he died mysteriously on October 7, 1849.

(D) He had gone missing on October 3, 1849 and was found a few days later.

(1) CDBA

(2) BADC

(3) BCDA

(4) DBCA

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




28. Identify the segment in the sentence, which contains the grammatical crror from the

give option
Last evening my friend tells me the funny joke that I have ever heard.

(1) thatI have
(2) ever heard
(3) tells me the funny joke
(4) Last evening my friend
29. Identify the segment in the sentence, which contains the grammatical error from the
given options.
Having been a student activist once, a politician never forget those days.
(1) a politician
(2) never forget
(3) Having been
(4) those days

30. Select the correct passive form of the given sentence.
Did you receive my letter ?
(1) Did my letter was received by you ?
(2) Have you been received by my letter ?
(3) Was my letter received by you ?

(4) Has my letter been received by you ?

31. Select the most appropriate word for the given group of words.
The Science which studies the crust of the earth :
(1) zoology
(2) etymology
(3) biology
(4) geology
- TYMOBA-EE-2021/(MBA)(SET-Y)/(B) | P.T. O.
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32. Select the word which means the same as the group of words given.
Exercising a compelling charm :
(1) dismissive
(2) vapid
(3) charismatic

(4) uninspiring

33. Select the word which means the same as the group of words given.

Impossible to satisfy :
(1) palatable

(2) insatiable

(3) insane

(4) magnanimous
34. Select the most appropriate meaning of the given idiom.‘
| Full of beans : |
(1) being upset
(2) lively and energetic. |
(3) full of crazy ideas N

(4) in good health

35. Select the most appropriate meaning of the given idiom.

Back to square one :

(1) Come to the original point

(2) Neglect something

(3) Draw a square . a - s

(4) Move ahead
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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36. Choosc thc most appropriatc option to change the narration (direct/indirect) of the
given sentence.
'Let's not go out today. It's going to be a hot day," he said to me.
(1) He suggested that we shouldn't be going out that day as it is going to be a hot day.
(2) He is suggesting that they shouldn't go out today as it was going to be a hot day.
(3) He suggested that we shouldn't go out that day as it was going to be a hot day.

(4) He had suggested that they shouldn't go out today as it was going to be a hot day.

37. Identify the word that is misspelt.
(1) aesthetic
(2) equivocal
(3) catastrophy

(4) ingenious

38. Select the most appropriate option to fill in the blank.

The Children's Series ................ recommended for ydung readers.
(1) is
(2) have
(3) are
(4) has -
39. Sclect the most appropriate indirect form pf' the given sentence.
Amit said to me, "Your parents are waiting for you." | |
(1) Amit told me that his parents were waiting for me.
(2) Amit told me that your parents are waiting for you.
(3) Amit told me that my parents were waiting for me.

| (4) Amit asked me if m-y parents were waiting for me.

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) ' P. T.O.
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40. Sclect the most appropriate antonym of the given word.
CRUCIAL

(1) Stable
(2) LEssential

(3) Urgent

(4) Trivial
41, Sclect the most appropriate antonym of the given word.
ENDORSE
(1) Affirm
(2) Support
(3) Advocatc
(4) Renounce
42. Sclect the correct direct form of the given sentence.
He t0ld me not to jump to any conclusion.
(1) He said to me, "Not jump to any conclusion.”
(2) He said to me, "Don't jump to any conclusion.”
(3) Hetold 1o me, "Don't jump to any conclusion."
(4) He said to me, "Not to jump to any conclusion."
43. Sclect the most appropriate option to fill in the blank.
He is an honest man and his conduct is .......... suspicion,
(1) over
(2) below
(3) above

(4) against
TYMOBA-EE-2021/(MBA)SET-Y)/(B)
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44. Sclect the most appropriate option to improve the underlined segment in the given

sentence. If there is no need to improve it, select 'No improvement'.

He turned a deaf ear on the advices of his parents.

(1) No improvement
(2) to the advice
(3) at the advices

(4) on the advice

45. Sclect the most appropriate option to substitute the underlined segment in the given

sentence. If there is no need to substitute it, select 'No substitution required'.
The Ghats in Banaras were very crowded but we were able to watch the Ganga Aarti
clearly. '

(1) No substitution required
(2) but we was

(3) but we are

(4) so we were

Read the given passage and answer the questions 46-50.

Chanhudaro was a tiny settlement (less than 7 hectares) as compared to Mohenjo-Daro (125
hectares), almost exclusively devoted to craft production, including bead-making, shell
cutting, metal-working, seal-making and weight-making. The variety of materials used to
make beads is remarkable : stones like camnelian (of a beautiful red colour), jasper, crystal,
quartz and steatite; metals like copper, bronze and gold; and shell, faience and terracotta or
burnt clay. Some beads were made of two or more stones, cemented together, some of stone
with gold caps. The shapes were numerous — disc shaped, cylindrical, spherical, barrel—shaped,
segmented. Some were decorated by incising or painting, and some had designs etched onto
them. Techniques for making beads differed according to the material Steatite, a very soft
- stone, was casily worked. Some beads were moulded out of a paste made with steatite

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) » £ P.T.O.
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powder. This permitted making, o variety of shapes, unlike the I"U“"’clricul i Illil.dC m”. ol
harder stones, Tlow the steatite micro head was made remaing o puzzle for archacologisy
studying ancient technology. Archacologists' experiments have revenled that lhc. red colour ”|.
carnelian was obtained by firing the yellowish raw materinl and beads at wlr","m M"ﬂuj i
production. Nodules were chipped into rough shapes, and then finely flaked into- the fina

e v P 1. . o @necialized drills haye
form. Grinding, polishing and linally drilling completed the process. Specializ ¢

i . , whwar and Balako
been found at Chanhudaro, Lothal and more recently at Dholavira, Nageshwar ,

both settlements are near the const, These were specialized centres for making shell objects
including bangles, ladles and inlay — which were taken to other settiements. Similarly, it ig
likely that finished products (such as beads) from Chanhudaro and Lothal were taken to the
large urban centres such as Mohenjo-Daro and Harappa,

46. Which of these stones is very soll and casy to mould ?
(1) Quartz
(2) Steatite
(3) Jasper
(4) Crystal |

47. Which of these statements is nof true ?

(1) Beads were made in numerous shapes and sizcs,

(2) Chanhudaro was exclusively devoled to craft production.

(3) Carnclian is a beautiful bluish stone.

(4) Harappa and Mohenjo-Daro were large urban centres.

48. Which is the final process in the production of beads ?
(1) Polishing
(2) Drilling
(3) Grinding
(4) Chipping
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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49. According to the text, which of these crafts was nof practiced in Chanhudaro ?

(1) Weight making
(2) Scal making
(3) Mectal cutting
(4) Paper making
50. Shcll objects were mostly made at Nageshwar and Balakot because :
(1) the women loved to wear bangles made of shells
(2) shells were readily available in these coastal arcas
(3) specialized drills were found here
(4) shells were transported here [rom Lothal

Which of the following telecom operator becoming the first telecom operator in India

i to demonstrate & orchestrate 5G services successfully ?
(1) Airtel (2) Jio
-(3) Vi (4) BSNL
Frefifee & @ H-ar e AifieX 5G Qanstl & Aweigds e i}
aReT HTT I RS 1 I8l qXER SRex aF 71 8 7
(1) QIesT (2) o
(3) et (4) deEeTT
52. Martyr's Day or Shahced Diwas is observed every year on ............. in the memory of
Mahatma Gandbhi.
(1) 26 January  (2) 27January  (3) 28 January  (4) 30 January
ey 2 g7 e Raw &Y g "o e @ B A =Y T
ST 2 |

(1) 26 SHaG (2) 27 SHaE (3) 28 Sl (4) 30 s=ad

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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53.

54.

55.

56.

57,

[ 92
What is the rank of India in 'Asia-Pacific Personalised Health Index 1n 20217
(L) 6th (2) 7th (3) 10th (4) 9th
2021 F 'wRET-¥fTeE adeemEes Bew 2T 3 wreq @ Y 8 7
()=t @) 7 (3) 10 (4) odt

P.M. Modi has declared to observe which day as the 'Partition Horrors Remembrance
Day' ?

(1) 14 August (2) 15 August  (3) 16 August  (4) 13 August
dio UHo

o o AR o R o oo e i fer & w9 A A A Ay
?

D) 14 oma () 15 evmm (3) 16 ovmd (4) 13 T

Anandha Kannan passed away recently. He was a/an .............. .
(1) Politician

(2) Journalist (3) Actor | 4 Env_iroﬁmcnlalist
STHE 1T &1 o1 & F M & T a8 T o o
() Trifs () wmr (3) ST (4) watazerag

Which of the following city has become the first Indian city to achieve 100 per cent
Covid-19 vaccination ?

(1) Imphal (2) Bhubaneswar (3) Indore (4) Surat

Frefifea & & @fm-ar sm3 100 afysd @fs-19 SHeReT oI X amn
9l AR 8T 97 97 & ?

(1) EHeT (2) gEAsTx } (3) K& ' 4) gz«

The Union Ministry for Science & Technology has released "Biotech-PRIDE
Guidelines".

Who is the present Union Minister for Science & Technology ?

(1) Jitendra Singh (2) Rao Inderjit Singh

(3) Shripad Yesso Naik (4) Faggan Singh Kulaste

SEE e ok AR e X aERw-uEs RenfErEer o ey ©
T HaE FEE ok At == A ¥ v '

(1) Rz Ris - (2) W= gxoia Ris

(3) sfug FF 1w (4) & e gesy

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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How many Indian companies features in the 2021 Fortune's Global 500 list ?
(1) 11 (25 3) 3 4) 7

2021 HTHH B Teaw 500 g F fpart wRedtg wafEl e § 7
(1) 11 (2) 5 (3) 3 4) 7

Which was the first State to be created on linguistic basis ?

(1) Madras *(2) Punjab (3) Andhra Pradesh (4) Gujarat
TS SR U G949 ITel gl o hi-91 o1 ?

(1) 5= (2) 95" (3) Ty u_er (4) oI
On which among the following dates, execution of Bhagat Singh took place ?
(1) 19 March, 1931 (2) 23 April, 1931

(3) 23 March, 1931 (4) 14 March, 1931

Frefefad & @ feq ariitg & s Ris @ widt & 18 o 7

(1) 19 =, 1931 (2) 23 a7, 1931

(3) 23 H, 1931 (4) 14 Tr, 1931

The planned 'Bedabahal Ultra Mega Power Project' is in which of the following states ?
(1) Jharkhand | _ (2) Odisha

(3) West Bengal (4) Tamil Nadu

T ‘S=Teed oTeET A dfax Wi’ elifaa F @ A s § 7
(1) IRTS (2) enfsam

(3) ufe=H (4) aFerTg

What is the maximum gap/interval between two sessions of parliament ?

(1) 30 days (2) 50 days

(3) 6 months (4) 12 months

qae 3 Qq gar & dg oIy Red /e | 8 7

(1) 30 RR= (2) 50 &= -

(3)6 T @) 12 e

. TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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63.

64.

65.

66.

B

Which article of the Indian Constitution says that directive principles : arc. not
enforceable by any court ?

(1) Article 36 (2) Article 37 (3) Article 38 (4) Article 39 -

T WA B B orqede wear @ B P Riwid @ o SR
&N T 787 fh S w2

(D ogDT 36 ) omgedn 37 (3) orgedm 38 (4) GBS 39

The makers of Constitution of India choose the scheme of federation of India, as
prevalent in which among the following countries ?

(1) United States (2) United Kingdom

" (4) Canada

A F dlaee Prfae ¥ Prefifad § ¥ frg 3w § vER ARGE €@ @
ST Y g7 ?

(1) 936 =g @ik
(3) stegferan

(3) Australia

(2) gz fered

(4) wATST

Which organization has decided to formulate Digital Payment Index ?

(1) NITI Aayog  (2) RBI (3) NPCI (4) SBI

R e X R g gEee R i @ Pk R 2
(1) i smam (2) sTreTE () e (4) TEdeTs

Which Technology company is set to’ acquire US-based product desngn ﬁrm
Kaleidoscope Innovation ?

(1) Infosys (2) Amazon

(3) Accenture (4) Tata Consultancy Services

ﬁﬂ@ﬁ@ﬁmﬁmﬁm—aﬂﬂmw%ﬁr@mﬁ %%a"eﬁtrs—-h%rmzm
HREY HH B T AR 8 7

(1) il
(3) TFETEX

(2) eTHsH ‘
(4) T FEd g

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




e . - - — = - — ——
= e = = =y ey =i s e
—T ZeTie= = rad an 1G5 = Ayt = <l 20T e B

- -
(3) =it 2= Tricn Aok
o

(£) Fr=z TF7 Thiarm 2EuGH

Tee RAISE 2020 globzl summit was orgamized by Ministry of Electronics zzd
[=formesion Tecknology zlong with which body ?

(1} Depariment of Science znd Tecimology

(Zy Election Conmmission of Indiz

(3) Nztionz! Commission for Women

(4) NTTI Azvog

|~ Lo - - _— —_— _ - e
BAISE 220 Zi5== /2T ©9an = dEem 154 mmd % i suaRinTs
= = —‘-L- -~ - i —~ —_
ZiT T 2EnE aRas a2t imEl Gl oy ¢
. - = - -
R
(1) B== S SiEires 19500

(Zy =77 & 28 SR
4

(3} 7= Siear JEr

-~ -
(4y Zna FEE

YMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T: 0.
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d University Ranking (WUR) 2021,

; ) . - . JE) Worl
69. As per the Times Higher Education (THE) 1op 350 varsitics ?

which is the only Indian institution to be in the 1ist 0
(1) IIT Bombay

(2) IM Ahmedabad

(3) AIIMS

(4) TISc Bengaluru

R ST TR (8 ud 3) A grEe AT (s=g, 7, ) 2021 ® TR,
sﬂﬁ350%ﬁﬁaﬁrﬁaﬁfz§ﬁﬁmﬁﬁaﬁwmﬂmmﬂmﬁmm
27

(1) emEemsdl =

(2) STESATETA IFEHEER
. (3) T=

(4) oeTETEd I

70. Which personality/institution won the Nobel Peace Prize 2020 ?
(1) Jacinda 'Ardem
(2) Greta Thunberg
(3) World Health Organization
(4) UN World Food Programme
et o grERR 2020 Rhu SAfRee / dear 3 Sirar ?
(1) Sfder o=
(2) Fer gt
(3) fasa @R e

(4) T g [ @ TR
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




71.

72.

73.

Which among the following is a Bank rate ?

(1) The rate at which a Commercial Bank lends to its customers

(2) The rate at which a Commercial Bank lends to its best customers

(3) The rate at which a Central Bank lends to Commercial Banks

(4) The rate at which a Commercial Bank lends to Central Bank

Fr=foiRea § & &I 0% S a8 7

(1) a% =X 9 b I S omae el @l I9R adT &

(2) T8 X R WX o aiiviaes S argn |aiay Aredhl Hl IR AT @
(3) @8 aX FTH W Tk DA Jh aifeiass Fhi @ IUR a1 8

(4) 95 =X B9 WX T Tt S $59 ¥ H IR T B

In the history of Independent India, a note of highest denomination has been of :

(1) Rs. 5,000 | (2) Rs. 1,000

(3) Rs. 2,000 (4) Rs. 10,000

Wl RA B SRER § geaaT 9w @1 G e e @ B 7
(1) o 5,000 (2) o 1,000 .

(3) So 2,000 (4) S0 10,000

Where is the first Special Economic Zone (SEZ) of Tripura being constructed ?
(1) Agartala 2) Sabrpom

(3) Dharmanagar (4) Kailashahar

By @1 gear 9w o &= (SEZ) el a=rar o WT B 7

(1) STa=T ‘ (2) gueq
(3) g (4) FemeTeT

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)

21

P.T. Q.



22 | ' i
74. Which Indian social activist was honoured with the U. S. Ami-cOlTUpﬁon champions
award 2021 ? '
(1) Disha Ravi
(2) Anjali Bharadwaj
(3) Sunitha Krishnan
(4) Prashant Bhushan

S S e S o 2021 &
TG BT oy ?

(1) e ¥

(2) 9 IRE™
(3) AT FT
(4) AL qHoT

75. Which among the following dynasties were ruling over Magadha, when Alexander

invaded India ?
(1.) Shisunagas (2) Nandas
(3) Mauryas (4) Kosalas -

Prfefag § § @9-ar ToRsT T WX QT 6T @7 o, o el A "R
g3 ST fopar &1 ?

(1) fRrgrrT , (2) T=
(3) A ' (4) FrEs

76. Find a number such that when 15 is subtracted from 7 times the number, the result
is 10 more than twice the number. '

(1) 7

2) 5

(3) 6

4) 8
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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SR ‘
77 1E30% O (x = y) = 3094 o (x+ ), then what pereent of x is y ?

(1) 25%
(2) 30%
(3) 35%
(4) 40%

78. 10 A is 150 percent of I, then B is what pereent of (A +13) ?

(1) 3.0%
(2) 40%'
(3) 35%
4) 45%

79. A person incurs 5% loss by sclling a watch for Rs. 1,140. At what price should the

watch be sold to carn 5% profit ?
(1) 1,275
(2) 1,280
(3) 1,260
(4) 1,200

80. A, B and C entered into a partnership. A invests 3 times as much as B invests and B

invests two-third of what C invests, At the end of the year, the profit carned is Rs. 6600.
What is the sharc of B ?

(1) 3,600
(2) l.,800
(3) 1,200
(4) Nonc of these

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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81.

82.

83.

84.

B

i ore i If the
, in orie minute. Y are
A man in a train notices that he can count 21 telephon¢ posts

known to be 50 metres apart, then at what speed is the train travelling ?
(1) 55 km/hr
(2) 57 km/hr
(3) 60 km/hr
(4) 63 km/hr

) let :
A and B together can complete a piece of work in 4 days. If A alone can complete the

same work in 12 days, in how many days can B alonc complete that work ?
(1) 6 Days

(2) 15 Days

(3) 8 Days

4) 5 Days

A and B undertake to do a piece-of work for Rs. 600. A alone can do it in 6 days while

B alone can do it in 8 days. With the help of C, they finish it in 3 days. Find the
share of B ?

(1) Rs. 300
(2) Rs.75
(3) Rs. 100
(4) Rs. 225

Ifa:b=5:9andb:c=4:7,finda:b:c=
(1) 7:45:36
(2) 28:36:35
(3) 30:35:37
(4) 20:36:63

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)




85. If24=3Band 4B=5C, then 4 :Cis:
(1) 3:4 '
(2) 8:15
(3) 15:8
(4) 4:3
86. In what ratio rice at Rs. 9.30 per kg be mixed with rice at Rs. 10.80 per kg, so that
the mixture be worth Rs. 10 per kg ? |
(1)7:8
(2) 8:7
(3)5:6
4) 6:5

87. There is 60% increase in an amount in 6 years at simple interest. What will be the
compound interest of Rs. 12,000 after three years at the same rate ?

(1) Rs. 2,160
(2) Rs. 3,120
(3) Rs. 3,972
(4) Rs. 6,240
88. The difference between the compound interest and simple interest on a certain sum
at 10% per annum for 2 years is Rs. 631. Find the sum ?
(1) Rs. 60,100
(2) Rs. 61,100
(3) Rs. 63,100
(4) Rs. 62,100

TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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89.

90.

91.

92,

93.

~Two dice are thrown together. What is the probability that th

B.

at random. Find the
A bag contains 6 white and 4 black balls. Two balls ar¢ drawn

probability that they are of the same colour :

(1) 172 : (2) 7715

(3) 8/15 (4) 1/9

¢ sum of the numbers
on the two faces is divisible by 4 or 6 ?

(1) 536 C(2) 518

3) 718 (4) 7/36

How many words can be formed from the letters of the word "DIRECTOR", so that

the vowels are always together ?

(1) 2100

(2) 2260

(3) 2200

(4) 2160

In how many ways can a group of 5 men 2 women be made out of a total of 7 men
and 3 women ?

(1) 63

(2) 90

(3) 45

(4) None of the above

A dighonest milkman professes to sell his milk at cost price but he mixes it with water
and thereby gains 25%. The percentage of water in the mixture is ?

(1) 4% ) 16%
(3) 20% 4) 25%

TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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94. When a commodity is sold for Rs. 34.80, there is a loss of 25%. What is the cost
price of the commodity ?

(1) 36.10 ' (2) 43
(3) 43.20 (4) 46.40
95. R and S are partners in a business. R invests Rs. 35,000 for 8 months and S invests
Rs. 42,000 for 10 months. Out of a profit of Rs. 31,570, R's share is :
(1) Rs. 11,235 (2) Rs. 12,628
‘(3) Rs. 18,225 (4) Rs. 10,253

Direction for [Question No. 96 to 100] : The bar graph given below shows the foreign

exchange reserves of a country (in million US $) from 1991-92 to 1998-99. Answer the
questions from 96-100 based on the following graph.

FOREX RESERVES OF A COUNTRY
(In Million US $)

5040
4320
3720
3360 3120 3120
2640 2520 l I I

92

95

2 S ® & R &
~ ~ h < B v} ~ 2]
g ; g 5 8 3 ; g

96. The foreign exchange reserves in 1997-98 was how many times that in 1994-95 ?
(1) 0.7
2) 1.2
(3) 14
4) 15
TYMOBA-EE-2021/(MBA)(SET-Y)/(B) P.T.O.
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i 97-98
. reserves n 19 OVel-
97. What was the percentage increase in the foreign exchange

1993-94 2
(1) 100
(2) 150
(3) 200
(4) 620

98. For which year, the percent increase of foreign exchange reserves over the previoyg
year, is the highest ?

(1) 1992-93

(2) 1993-94

(3) 1994-95 ‘

(4) 1996-97

99. The foreign exchange reserves in 1996-97 were approximatcly what percent of the

average foreign exchange reserves over the period under review ?
(1) 95%

(2) 110%

(3) 115%

4) 125%

100. The ratio of number of years, in which the foreign exchange reserves are above the

average reserves, to those in which the reserves are below the average reserves is ?
(1) 2:6
(2) 3:4
(3) 3:5

(4) 4:4
TYMOBA-EE-2021/(MBA)(SET-Y)/(B)
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1. Which of the following telecom opcrator becoming the first telecom operator in India

to demonstrate & orchestrate 5G services successfully ?
(1) Airtel (2) Jio (3) Vi
Prefafag § @ @F-A1 guEar S 56 Jarell Y AwdgES Fa S
e HY AT WG T GAE SRER O T ® 7

(1) e (2) Ry (3) o (4) dro@eTEsT

in the memory of

(4) BSNL

2. Martyr's Day or Shaheed Diwas is obscrved cvery yearon ............

Mahatma Gandhi. | _
(1) 26 January (2) 27 January (3) 28 January (4) 30 January |
e 2 A gdie Raw a7 ad "erdr we @ | A o Bl AT
ST B

(1) 26 STt (2) 27 ST 3) 28 S=Ed (4) 30 ST

3. What is the rank of India in 'Asia-Pacific Personalised Health Index' in 20217

(1) 6th (2) 7th (3) 10th (4) 9th
2021 § ‘cRrT-YffEE THETESS Bey g3 F WIRA H Yb HT B 7
(1) 63t (2) 7@t @) 1oaf  (4) 94T .

4. P.M. Modi has declared to observe which day as the 'Partition Horrors Remembrance
Day' ?
(1) 14 August (2) 15 August (3) 16 August ~(4) 13 August
dlo tHo HIEY A fhE R & ‘A= wamas @i Raa' s w9 d 799 a aiwen
HFH BT iy
(1) 14 o117 (2) 15 STR1 (3) 16 sTa - (4) 13 ST

5. Anandha Kannan passed away recently. He was a/an .............. .

0y Politician (2) Journalist (3) Actor ) Environmentalist
ST &~ BT BT B H 9T 81 AT T8 TH ..ooveeenne, o .
(1) TR (2) THFR (3) e (4) qatareeg

- TYMOBA-EE-2021/(MBA)SET-Y)/(C) P.T.O.
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6. Which of the following city has become the first Indian city to achieve 100 per cent
Covid-19 vaccination ?
(1) Imphal (2) Bhubaneswar (3) Indore ~ (4) Surat

Frefefes & § H-ar =T 100 wfisa Pifas-19 SpepIer oI A arelm
el WA 8% &89 74T 7

(1) S (2) gaRgax (3) &% (4) |
7. The Union Ministry for Science & Technology has released "Biotech-PRIDE
Guidelines".
Who is the present Union Minister for Science & Technology ?
(1) Jitendra Singh _ (2) Rao Inderjit Singh
(3) Shripad Yesso Naik (4) Faggan Singh Kulaste

®9 REm ok Fenfied wWeem d "ardRe-ums RenfRer ol R 2
aHE R e ol et w5 @A 7

(1) P fHe (2) = g=oia fEE
(3) Ziug | AT ‘ (4) v e ot
8. How many Indian companies features in the 2021 Fortune's Global 500 list ?
(H 11 (2) 5 33 4) 7
2021 ®redT i TE 500 gE F Rhael s watEt e 7
(1) 11 @ 5 3) 3 @) 7
9. Which was the first State to be created on linguistic basis ?
(1) Madras (2) Punjab (3) Andhra Pradesh (4) Gujarat
AYE YR U &4 91l 98T 5T BIF-a1 o1 ?
(1) T (2) 9o (3) Ty u_Sr (4)
10.  On which among the following dates, exccution of Bhagat Singh took place ?
(1) 19 March, 1931 (2) 23 April, 1931
(3) 23 March, 1931 (4) 14 March, 1931
PrefiRaa # @ Rra arirg @Y ser Ris @ B & T o ?
(1) 19 =€, 1931 (2) 23 3, 1931
(3) 23 =T, 1931 (4) 14 =7, 1931

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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11.

12

13.

14.

15.

3

The planncd 'Bedabahal Ultra Mcga Power Project' is in which of the following statcs ?

(1) Jharkhand (2) Odisha (_3) West Bengal  (4) Tamil Nadu
ﬁﬁm‘ama@ﬁquﬁﬁ’ﬁwﬁfﬁéﬁﬁﬁmma%?
(1) IRES (2) snfsem (3) ule™ =me (4) dffeTTg
What is the maximum gap/interval between two sessions of parliament ?

(1) 30 days (2) 50 days (3) 6 months (4) 12 months
g @ @ T B A sl ReRt /ST e

(1) 30 &= (2) 50 &= (3)6 AE (4) 12 A8

Which article of the Indian Constitution says that directive principles " arc nof

enforceable by any court ?

(1) Article 36 (2) Article 37 (3) Atrticle 38 (4) Article 39

TR GRS AT orgERs HedT & fh FPRww Risld R o erererd
R @] 78T fRT o AR € 7 .

(1) oTed 36 (2) oTg=d% 37  (3) oTgeDT 38 (4) g™ 39

The makers of Constitution of India choose the scheme of federation of India, as
prevalent in which among the following countries ?

(1) United States (2) United Kingdom

3) Australia ' (4) Canada

qRa & diRuE Fefel 3 it § @ e 2§ safad aRdE 99 #5
qrsTT <l gAT ? ‘

(1) dgwh 9 STARDT (2) grEes fpTsH

(3) sifegferar (4) HATST
Which organization has decided to formulate Digital Payment Index ?
(1) NITI Aayog  (2) RBI (3) NPCI - (4) SBI

mw%mwmwmwwm%?
(1) Fify s (2) RS (3) Tl (4) THEeTE

TYMOBA-EE-2021/(MBA)(SET-Y)/(C) P.T.O.
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16. Which Technology company is sct to acquirc US-based product design  firm,
Kaleidoscope Innovation ?
(1) Infosys
(2) Amazon
(3) Accenture

(4) Tata Consultancy Scrvices

T B e Be gug-enaia Sae a5, %ﬁ-‘@'@lﬂgﬁ%ﬂﬁm
HEREY FA & e [ e ?

(1) gwit|
(2) ==
(3) TR
(4) TrET HE U Gfaast

17. Which payment system was set to be made available round the clock from December

20207

(1) NEFT

(2) RTGS

(3) Bharat Bill Payment System

(4) Aadhar Enabled Payfnent System

Wzozoaﬁﬁﬁwﬁmﬁ%miﬁﬂ-ﬁwmﬁaﬁa
& Mg o ?

(1) TTEUH

(2) STREATA

(3) ARE faer e STl

(4) YR QEH PAH HOTRIAT
TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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18. The RAISE 2020 global summit was organized by Ministry of Electronics and
Information Technology along with which body ?
(1) Department of Science and Technology
(2) Election Commission of India

(3) National Commission for Women
(4) NITI Aayog
RAISE 2020 3Raw Rrax @eiiers & omder fra Fem & arg geesi-ed
3T g Menfan w=eE & far @ an v
(1) R ok Sranfent fawmr
(2) T & g AN
(3) T A AT
(4) f emaE
19. As per the Times Higher Education (THE) World University Ranking (WUR) 2021,

which is the only Indian institution to be in the list of top 350 varsities ?
(1) IIT Bombay

(2) IIM Ahmedabad

(3) AIIMS

(4) 1ISc Bengaluru

7 BT odeH (4 OF §) acs gRERiE W (swy g o) 2021 & STFER,
g 350 Rigafaedl @ gE § e 89 A TEHEAE AR W -8

g2
(1) sMEaEel arg
(2) HATEAETH STEHEER
(3) T
| (4) angamguadl FTgE
| TYMOBA-EE-2021/(MBA)(SET-Y)/(C) 305 "P.T.O.
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izc 2020 7
20. Which personality/institution won the Nobel Pcace Priz¢

(1) Jacinda Ardern

(2) Greta Thunberg

(3) World Health Organization

(4) UN World Food Programme

e iRy qREER 2020 R wRee / der 3 S ?
(1) SRfer o

(2) e gt

(3) e w@reem A

(4) gg< T Rsg @ HEmA

21. Which among the following is a Bank rate ?
(1) The rate at which a Commercial Bank lends to its customers
(2) The rate at which a Commercial Bank lends to its best customers
(3) The rate at which a Central Bank lends to Commercial Banks
(4) The rate at which a Commercial Bvank lends to Central Bank .
Frefafad & & @9 @ §6 &3 8 7 '
(1) g8 &¥ R 9T OF aiforiegen S 94 Ah @l IR Il 8
(2) g8 X R W TF qREs 6 AU & AEht B YR AT 8
(3) g8 & BT T TF PEF S aifomeds ot bl YR Sar
(4) g8 T R T U aivias S SR % B IUI 391

22. In the history of Independent India, a note of highest denomination has been of :

(1) Rs. 5,000 (2) Rs. 1,000

(3) Rs. 2,000 (4) Rs. 10,000
Ww%sﬁmﬂﬁmﬁa@mmﬁemm% ?
(1) To 5,000 (2) Bo 1,000

(3) o 2,000 (4) o 10,000

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)




C
rst Special Economic Zone (SEZ) of Tripura being constructed ?

23. Where is the fi
' (2) Sabroom

(1) Agartala

(3) Dharmanagar (4) Kailashahar

ﬁgﬂmqﬁﬁrs?rsram@izﬁasr(sm)aﬁﬁmwm%?
(1) STTRaeT (2) aFEH
(3) FHTR _ (4) HATLET

24. -Which Indian social activist was honoured with the U. S. Anti-corruption champions

award 2021 ?

(1) Disha Ravi

(2) Anjali Bharadwaj
(3) Sunitha Krishnan

(4) Prashant Bhushan
feer R @mIios Hrdehal hr FT Q?:‘Tao—{faﬁ HNfgg ofarE 2021 |
g fopar @m 7

(1) s @
(2) SAsier ARETST
(3) At FT
(4) FMA JIOT
25. Which among the following dynasties were ruling over Magadha, when Alexander
invaded India ?
(1) Shisunagas (2) Nandas
(3) Mauryas (4) Kosalas

Frefafad & | -1 IACTEYT T GRS HY IET o1, I Rbax A 9Ra
q¥ STERHT fhar a1 7

(1) RrgamT (2) 7=
& (3) A | (4) =rae
 TYMOBA-EE-2021/(MBA)(SET-Y)/(C) P ‘T O
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Direction for [Question No. 26 & 27] :

A B,C,D,E Fand G are sitting in a row facing North :
(1) Fisto the immediate right of E.

(2) E 1s 4th to the right of G.

(3) Cis the neighbour of B and D.

(4) Person who is third to the left of D is at one of ends.

26. What is the position of A:?
(1) BetweenE and D
(2) Extreme left
(3) Centre

(4) Extreme right

27. Who are the neighbours of B 7
(1) Cand D
(2) Cand G
(3) GandF

(4) CandE

28. Find out the missing no. in the following series :
32,48,72, ... 162, 243
(1) 84
(2) 96
(3) 108

4) 132
TYMOBA-EE-2021/(MBA)(SET-Y)/(C)



29. If'BELONGINGS' is coded as "TABLESTEST', then how will you code 'LINEN' ?

(1) BTEAE
(2) BTAEA
(3) BATEA

{4) None of the above

30. I{'FRANCE' is coded as 10-22-5-18-7-9, then how will you code 'INDIA' ?

Bascd on the above pattern, the answers will be as follows :

(1) 13-17-6-12-4
(2) 13-18-8-13-5
'i (3) 12-17-7-12-5

{4) Nonc of thc above

31. Choose the word that is least like the other words in a group ?

(1) Calendar
(2) Date
(3) Day
(4) Month
32. Fruit : Banana : : Mammal) : ?
(1) Snake
(2) Fish

(3) Sparrow

(4) Cow

| TYMOBA-EE-2021/(MBA)SET-Y)/(C) S
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33. Looking at a picture of a boy, Hemant said, "His mother is the wife of my father's son,
Brothers and sisters I have none." At whose picture was Hemant looking ?
(1) His cousin
(2) His son
- (3) His uncle
(4) His nephew

Direction for [Question No. 34 & 35] : Study the following information carefully to answer
these questions. | |

A,B,C,D,E,F and 3 are members of a sports club and have liking for different games, viz
Carrom, Table Tennis, Badminton, Bridge, Hockey, Football and Lawn Tennis but not
necessarily in the same order. Each one of them has a liking for different musical instruments,
viz Sitar, Guitar, Harmonium, Flute, Tabla, Banjo and Santoor, not necessarily in the same
order. B likes Carrom and Banjo. E likes to play Bridge but not Harmonium or Tabla. The one
who plays Hockey plays Sitar. F plays Guitar but not Table Tennis or Lawn Tennis. A plays

Badminton and Flute. The one who plays Lawn Tennis does not play Tabla. C plays
Harmonium and G plays Hockey.

34. D plays which game ?
(1) Table Tennis
(2) Lawn Tennis
(3) Football

(4) Cannot be determined

35. Who plays Santoor ?
(1) D
2) A
3G
(4) E
TYMOBA-EE-2021/(MBA)(SET-Y)/(C)



36. Find out the missing no. in the following series :
2,5,8,11, 14, 17,.......... ,23, 26,
(1) 19 |
(2) 21
(3) 20
4) 18

Direction for [Question No. 37 & 38] : Each question given below consists of a statement,

followed by two arguments numbered I and II. You have to decide which of the arguments is
a 'strong' argﬁment. 4
37. Statement : Should higher education be completely stopped for some time ?
Arguments : 1. No. It will hamper the country's future progress.
II. Yes. It will reduce the educated unemployment.
(1) Only argument I is strong
(2) Only argument II is strong
(3) Either I or I is strong
(4) Neither I nor I is strong
38. Statement: Should children be legally made reronsible to take care of their parents
during their old age ?
Arguments: [. Yes. Such matter can only be solved by legal means.

II. Yes. Only this will bring some relief to poor parents.

(1) Only argument [ is strong

(2) Only argument II is strong

(3) EitherI orIl is strong

(4) Neither I nor II is strong

[TYMOBA-EE-2021/(MBA)(SET-Y)/(C) P.T.O.
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39.

40.

41.

C \\

Kanmani ranked sixteenth from the top and twenty ninth from the bottom among those
who passed an examination. Six boys did not participatc in the competition and five

failed in it. How many boys were there in the class ?
(1) 35
(2) 45
(3) 50

4) 55

In a row of girls, Nithya and Suganya occupy ninth place from the right end and tenth
place from the left end, respectively. If they interchange their places, then Nithya and

Suganya occupy seventeenth place from the right and cighteenth place from the left

respectively. How many girls arc there in the row ?
(1 22
(2) 24
(3) 26
(4) 28
Statements : 1. Standard of living among the middle-class society is constantly going
up since part of few years.
1. Indian Economy is observing remarkable growth.
(1) Statement [ is the causc and statement Il is its effect.
(2) Statement I is the cause and statement | is its eftect,
(3) Both the statements [ and Il are independent causes.

(4) Both the statements 1 and 11 are elfects of independent causes,

TYMOBA-EE-2021/(M BA)SET-Y)Y(C) T
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k- 42. Statements: I. The metcorological Department has issued a statement mentioning

deficient rainfall during monsoon in many parts of the country.

II. The Government has lowered the revised estimated GDP growth

] from the level of earlier estimates.
(1) Statement I is the cause and statqment 11 is its effect.

(2) Statement 11 is the cause and statement I is its effect.

(3) Both the statements I and II are independent causcs.

(4) Both the statements I and II are effects of independent causes.

43. Suman walks 15 km towards North. She turns right and walks qnother 15 km. She turns

right and walks another 15 km. In which direction is she from the starting point ?

(1) North

(2) South

T R T R e P g T e v g e s

(3) East
(4) West
44. R:évi walks 8 km North-East and then 6 km South-East. Find the total distance as well
as shortest distance between starting and end points.
(_]) 14 km, 12 km
(2) 14 km, 10 km

(3) 10 km, 8 km

(4) 8 km, 6 km
_' TYMOBA-EE-2021/(MBA)(SET-Y)/(C) ) P.T. O.
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Direction Jor [Question No. 45 & 46] : Arrangc the following in a logical order :

45. 1. Bimh 2. Decath

3. TFuncral 4. Marriage

5. Education

M 1L3.452  @2,3,451 @)1.5423 @) 4,53,1,2
46. 1. Childhood

3. Infancy

- 2. Adulthood

4. Adolescence
5. Babyhood

(1) 4,1,3,2,5 (2) 3,5,1,4,2 (3) 2,5,1,4,3 (4) 5,4,2,3, 1

47. 1If the following words are

arranged in reverse dictionary order, which word comes
sccond ?

(1) Explosion (2) Express (3) Exploit (4) Expulse

48. Six friends A, B, C. D, E and F are sittin

g in a closed circle facing the center. E is to
the left of D. C is between A and B. Fis b

ctween E and A, Who is to the right of C ?

(1 A (2) B (3) D (4) E
49. Choose the missing term out of the given alternatives - QPO, NML, KI, ..........
(1) HOF (2) CAB (3) JKL (4) GHI

50. Statementl: The Millennium Development Goals were adopted in the United
Nations in the year 2010.

Statement I1 : Developing a global partnership for development was one of the
Millennium Development Goals,

Which of the above statements is/are correct ?
(1) Only |

(2) Only Il

(3) Both I and 1l

(4) Neither I nor 1l

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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51. Find a number such that when 15 is subtracted from 7 times the number, the result

is 10 more than twice the number.
(1) 7
(2) 5
3)6

(4) 8

52. If50% of (x —y) = 30% of (x + y), then what percent of x is y ?
(1) 25%
(2) 30%
(3) 35%

(4) 40%

53. If Ais 150 percent of B, then B is what percent of (A + B) ?
(1) 30%
(2) 40%
(3) 35%
(4) 45%
54. A person incurs 5% loss by selling a watch for Rs. 1,140. At what price should the
watch be sold to earn 5% profit ?
(1) 1,275
(2) 1,280
(3) 1,260
(4) 1,200

TYMOBA-EE-2021/(MBA)(SET-Y)/(C) . P.T. O.
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| , B invests and
55. A, B and C entered into a partnership. A invests 3 times as much as iy 660([)3
i ed is Rs. :
invests two-third of what C invests. At the end of the year, the profit €™

What is the share of B ?
(1) 3,600

(2) 1,800

(3) 1,200

(4) None of these

56. A man in a train notices that he can count 21 telephone posts in one minute. If they are

known to be 50 metres apart, then at what speed is the train travelling ?
(1) 55 km/hr
(2) 57 km/hr
(3) 60 km/hr
(4) 63 km/hr

57. A and B together can complete a piece of work in 4 days. If A alone can complete the

same work in 12 days, in how many days can B alone complete that work ?
(i) 6 Days o

(2) 15 Days

(3) 8 Days

(4) 5 Days

58. A and B undertake to do a piece of work for Rs. 600. A alone can do it in 6 ‘c-lays while
B alone can do it in 8 days. With the help of C, they finish it ip 3 days. Find the

share of B ?
(1) Rs. 300 (2) Rs. 75
(3) Rs. 100 (4) Rs. 225

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)




59. MWa:b=5:%andb:e¢=4: 7. finda:h:c-~
(1) 7:45:36
(2) 28:36:135
(3) 30:35:37

(4) 20:36:63

60. If24=3Bandd4B=5C.thenA:Cis:
(1) 3:4
(2) 8:15
(3) 15:8
(4) 4:3

17

61. In what ratio rice at Rs. 9.30 per kg be mixed thh ricc at Rs. 10.80 per kg, so that

the mixture be worth Rs. 10 per kg ?
(1) 7:8
(2) 8:7
(3) 5:6
(4) 6:5

62. There is 60% increase in an amount in 6 years at simple interest. What will be the

compound interest of Rs. 12,000 after three years at the same rate ?
(1) Rs. 2,160
(2) Rs.3,120
(3) Rs. 3,972
(4) Rs. 6,240

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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~ : : certain sum
- i lec interest on a
63. The difference between the compound interest and simp

at 10% per annum for 2 years is Rs. 631, Find the sum ?
(1) Rs. 60,100
(2) Rs. 61,100
(3) Rs. 63,100
(4) Rs. 62,100

m. Find the
64. A bag contains 6 white and 4 black balls. Two balls arc drawn at rando

probability that they arc of lhc‘samc colour :
(N 12

(2) 115

(3) 8/15

@) 19

65. Two dice arc thrown together. What is the probability that the sum of the. numbers

on the two faces is divisible by 4 or 6 ?

(1) 5736

(2) 518

(3) 718

(4) 7/36

66. How many words can be formed from the letters of the word "DIRECTOR",
the vowels are always together ?

so that

(1) 2100
(2) 2260
(3) 2200

(4) 2160
TYMOBA-EE-2021/(MBA)SET-Y)/(C)
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68.

69.

70.

19

In how many ways can a group of 5 men 2 women be made out of a total of 7 men

and 3 women ?

(1) 63

(2) 90

(3) 45

(4) None of the above

A dishonest milkman profcsses to scll his milk at cost price but he mixes it with water
and thereby gains 25%. The percentage of water in the mixture is ?

(1) 4%

(2) 16%

(3) 20%

(4) 25%

When a commodity is sold for Rs. 34.80, there is a loss of 25%. What is the cost
price of the commodity ?

(1) 36.10

(2) 43

(3) 43.20

(4) 46.40

R and S are partners in a business. R il}vests Rs. 35,000 for 8 months and S invests
Rs. 42,000 for 10 months. Out of a profit of Rs. 31,570, R's share is :

(1) Rs. 11,235
(2) Rs. 12,628
(3) Rs. 18,225
(4) Rs. 10,253

TYMOBA-EE-2021/(MBA)(SET-Y)/(C) - YR P.T.O.
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Direction for [Question No,
exchange reserves of
questions from 71-75 b

71.

72,

73.

c

71 10 75] : The bar graph given below shows the forcign
a country (in million US $) from 1991-92 to 1998-99. Answer the
ased on the following graph.

FOREX RESERVES OF A COUNTRY
(In Million US §)

4320
N0
3120 3120
| g I I I

The foreign exchange reserves in 1997-98 was how many times that in 1994-95 9
(1) 0.7

1992 92
1992-93
1993394

1994-95
199596
1996-97
1997-98
199899

(2) 1.2
(3) 14 @) 1.5
What was the percentage increase in the forcign exchange rescrves in 1997-98 over
1993-94 2 .
(1) 100 (2) 150
(3) 200 4) 620
For which year, the percent increase of foreign exchange reserves over the previous
year, is the highest ?
(1) 1992-93
(2) 1993-94

(3) 1994-95
(4) 1996-97

TYMOBA-EE-2021/(MBA)SET-Y)/(C)
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74.

75.

76.

21

The forcign exchange reserves in 1996-97 were approximately what percent of the

average foreign exchange rescrves over the period under review ?
(1) 95%

(2) 110%

3) 115%

(4) 125%

The ratio of number of years, in which the forcign exchange reserves are above the

average reserves, to those in which the reserves arc below the average reserves is 7
(1) 2:6
(2) 3:4
(3) 3:5
(4) 4:4

Given below are four jumbled sentences. Pick the option that gives their correct order.

(A) As soon as she was given the slippers, she broke into a dance strutting around in
her first ever pair of slippers.

(B) This story may seem strange but it is a fact that, in many villages of India, people
don't have anything to put on their feet.

(C) Goonj, a leading NGO of India, runs a Cloth for Work Scheme and gives clothes
and useful items in exchange for work done.

(D) Recently, as part of the scheme, an old lady in a Madhya Pradesh village was given
a pair of slippers.

(1) DACB
(2) CABD
(3) CDAB
(4) DBAC

TYMOBA-EE-2021/(MBA)(SET-Y)/(C) PHTO:
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77,

78.

79.

' N . : ives their correct order,
Given below are four jumbled sentences. Pick the option that gi

(A) His death was g cause of great speculation.

(B) Edgar Allan Poc was a famous American author.

(C) Within a few days of being found, he died mysteriously on October 7, 1849.
(D) He had gone missing on October 3, 1849 and was found a few days later.
(1) CDBA

(2) BADC

(3) BCDA

(4) DBCA

Identify the segment in the Sentence, which contains the grammatical error from the
give option A

Last evening my friend tells me the funny joke that I have cver heard.

(1) that I have
(2) ever heard
(3) tells me the funny joke

(4) Last evening my friend

given options.
Having been a student activist once, a politician never forget those days,
(1) apolitician

(2) never forget

(3) Having been

(4) those days

TYMOBA-EE-2021/(M BA)SET-Y)/(C)
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80.

81.

82.

83.

Sclect the correet passive form of the given sentence,
Did you receive my letter ?

(1) Did my letter was received by you ?

(2) Have you been received by my letter ?

(3) Was my letter received by you ?

(4) Has my letter been received by you ?

Select the most appropriate word for the given group of words.
The Science which studies the crust of the carth :

(1) zoology

(2) etymology

(3) biology

(4) geology

Select the word which means the same as the group of words given.

Exercising a compelling charm :
(1) dismissive

(2) vapid

(3) charismatic

(4) uninspiring

Select the word which means the same as the group of words given.

Impossible to satisfy :
(1) palatable

(2) insatiable

(3) insane

(4) magnanimous

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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84.

85.

86.

87.

Select the most appropriate meaning of the given idiom.
Full of beans :

(1) being upset

(2) lively and energetic

(3) full of crazy idcﬁs

(4) in good health

Select the most appropriate meaning of the given idiom.

Back to square one :

(1) Come to the original point

(2) Neglect something

(3) Draw a square

(4) Move ahead

Choose the most appropriate option to change the narration (direct/indirect) of the
given sentence.

'Let's not go out today. It's going to be a hot day," he said to me.

(1) He suggested that we shouldn't be going out that day as it is going to be a hot day.
(2) He is suggesting that they shouldh’t go out today as it was going to be‘ a hot day.
(3) He suggested that we shouldn't go out that day as it was going to be a hot day.

(4) He had suggested that they shouldn't go out today as it was going to be a hot day.

Identify the word that is misspelt.
(1) aesthetic

(2) equivocal

(3) catastrophy

(4) ingenious .

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)




88.

89.

90.

91.

Sclect the most appropriate option to fill in the blank.

The Children's Series
(1 is

(2) have

(3) are

(4) has

Select the most appropriate indirect form of the given sentence.
Amit said to me, "Your parents are waiting for you."

(I) Amit told me that his parents were waiting for me.

(2) Amit told me that your parents are waiting for you.

(3) Amit told me that my parents were waiting for me.

(4) Amit asked me if my parents were waiting for me.

Select the most appropriate antonym of the given word.

CRUCIAL

(1) Stable

(2) Essential
(3) Urgent
(4) Trivial

Select the most appropriate antonym of the given word.
ENDORSE

(1) Affirm

(2) Support

(3) Advocate

(4) Renounce .

TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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82. Select the correct ditect form of the given sentence.

93*

04,

9s.

He told me not 1o jump to any conclusion.

(1) He eaid to me, “Not jump to any conclusion.”
(2) e aid 10 me, "Don’t jump to any conclugion.”
(3) He told to me, "Don’t jump to any conclusion.”

{4) e «id 10 me, "Not to jump to any conclusion.”

Scleet the most appropriate option to fill in the blank.

He is an honcst man and his conductis ..oooee suspicion.
(1) over (2) below
{3) above : (4) against

Sclect the most appropriate option to improve the underlined segment in the given
sentence. If there is no need to improve it, select No improvement'.

He tumed a deaf car on the advices of his parents.

(1} No improvement

{2) 1o the advice

{3) at the advices

{4) onthe advice

Sclect the most appropriate option to substitute the underlined segment in the given
sentence 11 there is no need to substitute it, select 'No substitution required',

The Ghats 1n Banaras were very crowded but we were able to watch the Ganga Aarti
clearly,

(1) No substitution required
{2) butwe was
{3) bul we are

(4) 50 We were
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Read the given passage and answer the questibns 96-100.

Chanhudaro was a tiny settlement (less than 7 hectares) as compared to Mohenjo-Daro (125
hectares), almost exclusively ﬂcvoted to craft production, including bead-making, shell
cutting, metal-working, scal-making and weight-making. The variety of materials used to
make beads is remarkable : stones like carnelian (of a beautiful red colour), jasper, crystal,
quartz and steatite; metals like copper, bronze and gold; and shéll, faience and terracotta or
burnt clay. Some beads were made of two or more stones, cemented together, some of stone
with gold caps. The shapcs were ﬁumerous — disc shaped, cylindrical, spherical, barrel-shaped,
segmented. Some were decorated by incising or painting, and some had designs etched onto
them. Techniques for making beads differed according to the material Steatite, a very soft
stone, was easily worked. Some beads were moulded out' of a paste made with steatite
powder. This permitted making a variety of shapes, unlike the geometfical forms made out of
harder stones. How the steatite micro bead was made remains a puzzle for archaeologists
studying ancient technology. Archaeologists' experiments have revealed that the red colour of
carnelian was obtained by firing the yellowish raw material and beads at various stages of
production. Nodules were chipped into rough shapes, and then finely flaked into the final
form. Grinding, polishing and finally drilling completed the process. Specialized drills have
been found at Chanhudaro, Lothal and more recently at Dholavira. Nageshwar and Balakot,
both settlements are near the coast. These were specialized centres for making shell objects —
including bangles, ladles and inlay — which were taken to other settlements. Similarly, it is
. likely that finished produéts (such as beads) from Chanhudaro and Lothal were taken to the

large urban centres such as Mohenjo-Daro and Harappa.
96. Which of these stones is very soft and easy to mould ?
(1) Quartz
(2) Steatite
(3) Jasper

(4) Crystal
TYMOBA-EE-2021/(MBA)(SET-Y)/(C) Wed "P.T.O.
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97.  Which of these statements is nor truc ?

(1) Beads were made in numerous shapes and sizes.

(2) Chanhudaro was cxclusively devoted to craft production.
(3) Camclian is a beautiful bluish stone.
(4) Harappa and Mohenjo-Daro were large urban centres.

98. Which is the final process in the production of beads ?

(1) Polishing
(2) Drilling
(3) Grinding

(4) Chipping

99. According to the text, which of these crafts was not practiced in Chanhudaro ?

(1) Weight making
(2) Seal making
(3) Metal cutting

(4) Paper making

100. Shell objects were mostly made at Nageshwar and Balakot because :
(1) the women loved to wear bangles made of shells
(2) shells were readily available in these coastal areas
(3) specialized drills were found here

(4) shells were transported here from Lothal
TYMOBA-EE-2021/(MBA)(SET-Y)/(C)
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1. Find a number such that when 15 is subtracted from 7 times the number, the result

is 10 more than twicc the number.

(1 7
@) 5
(3) 6
(4) 8

2. 1f50% of (x —y) = 30% of (x + ), then what percent of x is y ?

(1) 25%
(2) 30%
(3) 35%
(4) 40%
3. If Ais 150 percent of B, then B is what percent of (A+B)?
(1) 30% |
(2) 40%
(3) 35%
(4) 45%
4. A person incurs 5% loss by selling a watch for Rs. 1,140. At what price should the
watch be sold to earn 5% profit ?
(1) 1,275
(2) 1,280
(3) 1,260
(4) 1,200

TYMOBA-EE-2021/(MBA)SET-Y)/(D) ' P.T.O
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D

, : ‘ : invests and
5. A, B and C entered into a partnership. A invests 3 times as much as B in B

invests two-third of what C invests. At the end of the year, the proﬁ t camed is Rs. 6.600'
What is the sharc of B ?

(1) 3,600
(2) 1.800
(3) 1,200

(4) None of these

A man in a train notices that he can count 21 telephone posts in onc minute. If they are

known to be 50 metres apart, then at what speed is the train travelling ?
(1) 55 km/hr
(2) 57 km/hr
(3) 60 km/hr
(4) 63 km/hr

. A and B together can complete a piece of work in 4 days. If A alone can complete the

same work in 12 days, in how many days can B alone complete that work ? |
(1) 6 Days

(2) 15 Days

(3) 8 Days

(4) 5 Days

A and B undertake to do a piece of work for Rs. 600. A alone can do it in 6 days while

B alone can do it in 8 days. With the help of C, they finish it in 3 days. Find the
share of B ?

(1) Rs.300 (2) Rs. 75
(3) Rs. 100 (4) Rs. 225

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)




9. ad=S5:9andb:ce=4:7 inda:b:ic~
(1) 7:45:36
(2) 28:36:135
(3) 30:35:137

(4) 20:36:63

10, f24=3Band4B=5C then A : Cis:
(1) 3:4
(2) 8:15
(3) 15:8
(4) 4:3
11, In what ratio rice at Rs. 9.30 per kg be mixed with rice at Rs. 10.80 per kg, so that
the mixture be worth Rs. 10 per kg ?
(1) 7:8
(2) 8:7
(3) 5:6
(4) 6:5
12. There is 60% increase in an amount in 6 years at simple interest. What will be the
compound interest of Rs. 12,000 after three years at the same rate ?
(1) Rs. 2,160
(2) Rs. 3,120
(3) Rs. 3,972
(4) Rs. 6,240

TYMOBA-EE-2021/(MBA)(SET-Y)/(D) - P.T. O.
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13. The difference between the compound interest and simple interest on a certain sum

at 10% per annum for 2 years is Rs. 631. Find the sum ?
(1) Rs. 60,100
(2) Rs. 61,100
(3) Rs. 63,100
(4) Rs. 62,100

14. A bag contains 6 white and 4 black balls. Two balls are drawn at random. Find the
probability that they are of the same colour :

(H 12
(2) 7115
(3) 8/15
4) 179
15. Two dice are thrown together. What is the probability that the sum of the numbers
on the two faces is divisible by 4 or 6 ?
(1) 5/36
£2) 5/18
(3) 7/18
(4) 7/36

16. How many words can be formed from the letters of the word "DIRECTQR"
the vowels are always together ?

, SO that

(1) 2100
(2) 2260
(3) 2200

(4) 2160
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)



17. In how many ways can a group of 5 men 2 women be madec out of a total of 7 men

and 3 women ?

(1) 63

(2) 90

(3) 45

(4) None of the above

18. A dishonest milkman professes to sell his milk at cost price but he mixes it with water

and thereby gains 25%. The percentage of water in the mixture is ?
(1) 4%
(2) 16%
(3) 20%
4) 25%

19. When a commodity is sold for Rs. 34.80, there is a loss of 25%. What is the cost
price of the commodity ? ‘ '
(1) 36.10
(2) 43
(3) 43.20
(4) 46.40

20. R and S are partners in a business. R invests Rs. 35,000 for 8 months and S invests
Rs. 42,000 for 10 months. Out of a profit of Rs. 31,570, R's share is :

(1) Rs. 11,235
(2) Rs. 12,628
(3) Rs. 18,225

(4) Rs. 10,253
TYMOBA-EE-2021/(MBA)(SET-Y)/(D) . L P.T.O.
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Direction for [Question No. 21 to 25] : The bar graph given below shows  the foreign
exchange reserves of a country (in million US $) from 1991-92 to 1998-99. Answer th
questions from 21-25 based on the following graph.

FOREX RESERVES OF A COUNTRY
(In Million US §)

5040
4320
3720 .
3360 3120 3120
i ] | ' I

3 2 § & R 5 R 8
~N ~ < vh r~
g § & 5 & g & g

21. The foreign exchange reserves in 1997-98 was hov;z many times that in 1994-95 ?
(1) 0.7 ‘ .
(2) 1.2
3) 1.4
“4) 1.5
22. What was thé percentage increase in the foreign exchange reserves in 1997-98 over
1993-94 ? |
(1) 100
(2) 150
(3) 200

(4) 620
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)



23. For which year, the percent increase of forcign exchange reserves over the previous

year, is the highest ?
(1) 1992-93
(2) 1993-94
(3) 1994-95

(4) 1996-97

24. The foreign exchange reserves in 1996-97 were approximately what percent of the

average foreign exchange rescrves over the period under review ?
(1) 95%

(2) 110%

(3) 115%

(4) 125%

25. The ratio of number of years, in which the foreign exchange reserves are above the

average reserves, to those in which the reserves arc below the average reserves is ?
(1) 2:6
(2) 3:4
(3) 3:5

(4) 4:4

TYMOBA-EE-2021/(MBA)(SET-Y)/(DD) P.T. O.



26.

27.

28.

29.

30.

ning the first telecom operalorin Ingj
col

Which of the following telecom operator be y
gsfully

N it S " C
to demonstrate & orchestrate SG services succ
(3) Vi

(4) BSNL

(1) Airtel N Hqg.—irg—c‘m; TR oy

Ppafafaa 7 @ @F-ar g affaEd 5G i e
~ T 1 qeal grHEr STfIRET
syafera &R Giar WRa &1 9edl § @ .

(1) T (2) R (3) otz

: ; ; on
Martyr's Day or Shaheed Diwas is observed cvery year

(2) lio

in the memory qf

.
""""""""
.

Mahatma Gandhi. |
(1) 26 January (2) 27 January (3) 28 January (4) 30 January
m%ms@zﬁwawmmgﬁﬁ@ﬁfﬁ ............... Y T
ST @1 |

3) 285 (4 30 ST

(1) 26 s (2) 27 S
What is the rank of India in 'Asia-Pacific Personalised Health Index' in
(1) 6th (2) 7th (3) 10th (4) 9th
2021 ﬁ'@m—%qﬁm%&@m’ﬁ%ﬂﬁﬂ%?
(1) 6ar - (2) 74t 3) 107 (4) 9af

P.M. Modi has declared to observe which day as the 'Partition Horrors Remembrance

20217

Day'?
(1) 14 August (2) 15 August (3) 16 August (4) 13 August

Ho o FIET T fipg R @1 AW swaae |y Rew'$ &9 § 79 & gr5en
FE?

(1) 14 sFra (2) 15 orFra (3) 16 TR 4) 13 o

Anandha Kannan passed away recently. He was a/an .............. .

(1) Politician (2) Journalist (3) Actor (4) Environmentalist

3T =19 &l Bl & & 99 8 11 98 Th .oovvevnenneen.
(1) TroF=IcTE (2) GHEY (3) sl (4) wafeRwTfag

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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31. Which of the following city has become the first Indian city to achieve 100 per cent
Covid-19 vaccination ?
(1) Imphal (2) Bhubaneswar (3) Indore (4) Surat

Rraffad § Q P-ar wE] 100 e @Hfes-19 eIl SI<d I ane
Ul WA Y &9 4T § 7

(1) EPRT (2) aREx (3) €2 (4) gz
32. The Union Ministry for Scicnce & Technology has released "Biotech-PRIDE
Guidclines".
Who is the present Union Minister for Science & Technology ?
(1) Jitendra Singh (2) Rao Inderjit Singh
(3) Shripad Yesso Naik (4) Faggan Singh Kulaste

F0a e ol MR HewE 3 raERe-gs Rafde” S R §
g Ba EE IR gt w5 @ § 7

(1) Rz Rz (2) T g5oa Rig
(3) Nug ATQ T=EE (4) BT T ma

33. How many Indian companies features in the 2021 Fortune's Global 500 list ’7
(D) 11 (2) 5 3) 3 @) 7
2021 ®B=AR H WEw 500 gEr F fRa ARAE wmatEr e 8 7
(1) 11 2) 5 3) 3 4) 7

34. Which was the first State to be created on linguistic basis ?

(1) Madras (2) Punjab (3) Andhra Pradesh (4) Gujarat

AYE IR U G917 a1al Ul (99 SHhiA-91 47 ? |

(1) 7=ra @) dE (3) ofig R (4) PRE
35. On which among the following dates, execution of Bhagat Singh took place ?
" (1) 19 March, 1931 (2) 23 April, 1931

(3) 23 March, 193 (4) 14 March, 1931

Frefefee & @ fhe ariiE @ W Rie & wid & 7 & ?

(1) 19 =7, 1931 (2) 23 o, 1931

(3) 23 =74, 1931 (4) 14 =7, 1931

. TYMOBA-EE-2021/(MBA)(SET-Y)/(D) | - P.T.O.
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36.

37.

38.

39.

40.

D

ottt : oh of the following stateg
power Project' 18 10 whic

The planned 'Bedabahal Ultra Mega (@) Tamil Nadu

(1) Jharkhand (2) Odisha | (3) West Bcngal. A
PrRE A oteg A dfER S prefiraa & , q
(1) sREs (2) anfeam (3) af¥erd el (4) afFeTTg

: ?
; ; "5 arliament
What is the maximum gap/interval between (two scssions of parlic

4) 12 months

(1) 30 days (2) 50 days (3) 6 months-
das & & T B A oy Re /o #4187
(30 RT . (2) 50 R+ (3)6 T (4) 12 #TE

Which article of the Indian Constitution says that directive principles arc nof
cnlorceable by any court ?

(1) Article 36 (2) Article 37 (3) Article 38 (4) Article 39
A R & A o Fear & P Resia Bt ol eww
B @R 78 R S @ § 7

() oTg=d% 36 (2) orgeda 37  (3) oTg=d% 38 . (4) =T 39

The makers of Constitution of India choose the scheme of federation of India, as
prevalent in which among the following countries ?

(1) United States (2) United Kingdom

(3) Australia | (4) Canada

e B e Pt 3 PrefRes § @ Rea 2w ¥ safe ol @ @
QT & AT 7

(1) Hgwh T STARH (2) gorEes Rersw

(3) SArEferar " (4) FETST

Which organization has decided to formulate Digital Payment Index ?

(1) NITI Aayog  (2) RBI (3) NPCI (4) SBI

fope Ted X BRTed YIa™ gasie TaR w1 & Fofly R & 7
(1) ify e/ (2) STREteTs (3) TSR (4) wEehtans

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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42.
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Which Technology company i3 et to acquire US-based product design firm,
Kalgidoscope Innovation ?

(1) Infosys
(2) Amazon
(3) Accenture

(4) Tata Consultancy Scrvices

B e B qua-amnfa gar Bemge @, SRR sAEeE @i
sfamen 3 & R Qe ® ?

() s=ifEa

2) ST

(3) I

(4) T BEed widdm

Which payment system was set to be made available round the clock from December
20207

(1) NEFT

(2) RTGS

(3) Bharat Bill Payment System

(4) Aadhar Enabled Payment System

fedar 2020 @ GGl 92 Iuerem HUA & fw A pram ol Myt
1 g o 7

(1) TAguEd

(2) sy

(3) wrea fas YA gvmedl
(4) @nure q@d SPRIE 9ol

P.T, O.
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43. The RAISE 2020 global summit was organized by Ministry of Electronic; ang

Information Technology along with which body ?
(1) Department of Science and Technology

(2) Election Commission of India

(3) National Commission for Women

(4) NITI Aayog

RAISE 2020 3fyas Rraw aem @1 omdom fea P & A et
ST ga NN wismera & Rear T o1 ?

(1) s o HrenfEy Ry

(2) ¥a@ & g wrET
3) wfta wfeen amdm
(4) Ry am@rT

As per the Times Higher Education (THE) World University Ranking (WUR) 2021,
which is the only Indian institution to be in the list of top 350 varsities ?

(1) IIT Bombay

(2) IIM Ahmedabad

(3) AIIMS

(4) 11S¢ Bengaluru

T EET QB (& 0 §) A IR W (s=g g o) 2021 F oEw,

g 350 fagafaeedl & gt A e @9 amer oEaE TRl e S
B 7

(1) IMEAELT 9

(2) FATEINMETH IEAGER
(3) T4

(4) IEARTgdl dE

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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45.

46.

47.
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Which personality/institution won the Nobel Peace Prize 2020 ?
(1) Jacinda Ardern

(2) Greta Thunberg

(3) World Health Organization

(4) UN World Food Programme

e g gRERR 2020 fopw aAfea / e F S ?
(1) SfEsT o1Ed

(2) Frer gt

(3) fag @R Eied

(4) dgw g [sa @ Hwe

Which among the following is a Bank rate ?

(1) The rate at which a Commercial Bank lends to its customers

(2) The rate at which a Commercial Bank lends to its best customers

(3) The rate at which a Central Bank lends to Commercial Banks

(4) The rate at which é Commercial Bank lends to Central Bank

Preiffae & ¥ @ o FH X X 7 .

(1) @& aX B X o Tiioiigs §6 3199 Ateeh! & 39 dT B

(2) a8 X B ) T aifviiys §6 99 Faiad Aed! H IUR a1 2
(3)agﬁmww%ﬁﬁﬁmaﬁrﬁwm§aﬁﬁawam%

(4) g8 W N9 W} w& aivias d% F59 S @ Iux 3t ©

In the history of Independent India, a note of highest denomination has been of :

(1) Rs. 5,000
(3) Rs. 2,000

(2) Rs. 1,000

(4) Rs. 10,000

AT ARG & e ¥ I=aH I H1 O e Rhge @1 ?
(1) o 5,000
(3) Bo 2,000

(2) To 1,000
(4) o 10,000

13
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ing constructcd ?

; Tripura bein
48. Where is the first Special Economic Zone (SEZ) of Trip

(1) Agartala (2) Sabroom

(3) Dharmanagar 4) Kailashahar )
BT 1 e Rl ol d (SEZ) e e S T E
(1) IR '(2) gaed

() TR (4) el

) i_corruption champions
49. Which Indian social activist was honoured with the U. S. Anti-C .p

award 2021 ?

(1) Disha Ravi

(2) Anjali Bharadwaj
(3) Sunitha Krishnan
(4) Prashant Bhushan

ﬁﬁawﬁ?ﬁuwﬁﬂmaﬁgm@mﬁaﬁﬁaﬂqmzomﬁ
THIMT Ry ™ ?

(1) Re=w 9
(2)A ST ARETST -
(3) gk P
(4) AT I
50. Which among the following dyn\asties were ruling over Magadha, when Alexander
invaded India ?
(1) Shisunagas (2) Nandas
(3) Mauryas (4) Kosalas

ﬁwﬁr@aﬁﬁeﬁ?-mimﬁﬂwﬁwsﬂﬂ?mwmmmmﬁw
9x TR foRar e ?

() Rrger (2) 7=
(3) At | (4) e
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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51. Given below are four jumbled sentences. Pick the option that gives their correct order.

(A) As soon as she was given the slippers, she broke into a dance strutting around in

her first ever pair of slippers.

(B) This story may scem strange but it is a fact that, in many villages of India, people

don't have anything to put on their feet.

(C) Goonj, a leading NGO of India, runs a Cloth for Work Scheme and gives clothes

and useful items in exchange for work done.

(D) Recently, as part of the scheme, an old lady in a Madhya Pradesh village was given

a pair of slippers.
(1) DACB
(2) CABD
(3) CDAB

(4) DBAC

52. Given below are four jumbled sentences. Pick the option that gives their correct order.

(A) His death was a cause of great speculation.
(B) Edgar'Allan Poe was a famous American author.

(C) Within a few days of being found, he died mysteriously on October 7, 1849.

(D) He had‘ gone missing on October 3, 1849 and was found a few days later.
(1) CDBA

(2) BADC

(3) BCDA -

(4) DBCA

TYMOBA-EE-2021/(MBA)(SET-Y)/(D) P.T.O.
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ammatical crror from the

53. ldentifv the segment in the sentence, which contains the g
Si\‘c U!\Ii(\n d
C\’ ] T ~ hc'!r L4

Last evening my friend tells me the funny joke that I have ever I

(1) that 1 have
(2) ever heard
(3) tells me the funny joke
(4) Last evening my friend
S4. Identify the scgment in the sentence, which contains the grammatical crror from the
given options.
Having been a student activist once, a politician never forget those days
(1) apolitician
(2) never forget
(3) Having been
(4) those days
55. Select the correct passive form of the given sentence.
Did you receive my letter ?
(1) Did my letter was received by you ?
(2) Have you been received by my letter ?
(3) Was my letter received by you ?

(4) Has my letter been received by you ?

56. Sclect the most appropriate word for the given group of words,

The Science which studies the crust of the earth :

(1) zoology

(2) etymology

(3) biology

(4) geology
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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58.

59.

60.

Select the word which means the same as the group of words given.

Excrcising a compelling charm :

(1) dismissive
(2) vapid
(3) charismatic

(4) uninspiring

Select the word which means the same as the group of words given.

Impossible to satisfy :
(1) palatable

(2) insatiable

(3) insane

(4) magnanimous

Select the most appropriate meaning of the given idiom.
Full of beans :

(1) being upset

(2) lively and energetic

(3) full of crazy ideas

(4) in good health

Select the most appropriate meaning of the given idiom.
Back to square one :

(1) Come to the original point

(2) Neglect something

(3) Draw a square

(4) Move ahead

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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. ‘ rect/indirect) of the
61. Choose the most appropriate option to change the narration (dir

given sentence.,
‘Let's not go out today. It's going to be a hot day,” he said to me.

. i ooing to be a hot day,
(1) He suggested that we shouldn't be going out that day as it 13 going

: ; : ’ be a hot day.
(2) He is suggesting that they shouldn't go out today as it was £oing o

. : ¢ a hot day.
(3) He suggested that we shouldn't go out that day as it was going tob

; : be a hot day.
(4) He had suggested that they shouldn't g0 out today as it was going (0 4

62. Identify the word that is misspelt.
(1) aesthetic
(2) equivocal
(3) catastrophy

(4) ingenious

63. Sclect the most appropriate option to fill in the blank.
The Children's Serics ................ recommended for young readers.
(1) 1s
(2) have
(3) are
(4) has

64. Select the most appropriate indirect form of the given sentence.
Amit said to me, "Your parents are waiting for you."
(1) Amit told me that his parents were waiting for me.
(2) Amittold me that your parents are waiting for you.
(3) Amit told me that my parents were waiting for me.

(4) Amit asked me if my parents were waiting for me.

TYMOBA-EE-2021/(MBA)(SET-Y)/(D) L g



65.

66.

67.

68.

Sclect the most appropriate antonym of the given word.

CRUCIAL

(1) Stable
(2) Essential
(3) Urgent
(4) Trivial

Select the most appropriate antonym of the given word.

ENDORSE
(1) Affirm
(2) Support
(3) Advocate

(4) Renounce

Select the correct direct fornzn of the given sentence.
He told me not to jump to any conclusion.

(1) He said to.me, "Not jump to any conclusion."
(2) He said to me, "Don't jump to any conclusion."
(3) He told to me, "Don't jump to any conclﬁsion."

(4) He said to me, "Not to jump to any conclusion."

Select the most appropriate option to fill in the blank.

He is an honest man and his conduct is .......... suspicion.

(1) over

© (2) below

(3) above
(4) against

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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ment in the given
69. Sclcct the most appropriate option to lmprovc the underlined s€g

t'
sentence. If there is no need to improve it, select 'No improvement.

He turned a deaf car on the advices of his parents.

(1) No improvement
(2) to the advice
(3) at the advices

(4) on the advice

70.  Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required’.

The Ghats in Banaras were very crowded but we were able to watch the Ganga Aarti

i

clearly.

(1) No substitution required

(2) but we was

(3) but we are

(4) so we were
Read the given passage and answer the questions 71-75.
Chanhudaro was a tiny settlement (less than 7 hectares) as compared to Mohenjo-Daro (125
hectares), almost exclusively devoted to craft production, including bead-making, shell
cutting, metal-working, seal-making and weight-making. The variety of materials used to
make beads is remarkable : stones like carnelian (of a beautiful red colour), jasper, crystal,
quartz and steatite; metals like copper, bronze and gold; and shell, faience and terracotta or
burnt clay. Some beads were made of two or more stones, cemented together, some of stone
with gold caps. The shapes were numerous — disc shaped, cylindrical, spherical, barrel-shapcd,
segmented. Some were decorated by incising or painting, and some had designs etched onto

them. Techniques for making beads differed according to the material Steatite, a very soft
stone, was casily worked. Some beads were moulded out of a paste made with steatite

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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powder. This permitted making a variety of shapes, unlike the geometrical forms made out of
harder stones. How the steatite micro bead was made remains a puzzle for archacologists
studying ancient technology. Archacologists' experiments have revealed that the red colour of
carnelian was obtained by firing the yellowish raw material and beads at various stages of
production. Nodules were chipped into rough shapes, and then finely flaked into the final
form. Grinding, polishing and finally drilling completed the process. Specialized drills have
been found at Chanhudaro Lothal and more recently at Dholavira. Nageshwar and Balakot,
both settlements are near the coast. These were specialized centres for making shell objects —
including bangles, ladles and ihlay _ which were taken to other settlements. Similarly, it is
likely that finished products (such as beads) from Chanhudaro and Lothal were taken to the

large urban centres such as Mohenjo-Daro and Harappa.

71. Which of these stones is very soft and easy to mould ?
(1) Quartz
(2) Steatite
(3) Jasper
(4) Crystal

72. Which of these statements is nof true 7
(1) Beads were made in numerous shapes and sizes.
(2) Chanhudaro was exclusively devoted to craft production.
' (3) Carnelian is a beautiful bluish stone.

(4) Harappa and Mohenjo-Daro were large urban centres.

73. Which is the final process in the production of beads ?
(1) Polishing
(2) Drilling
(3) Grinding
(4). Chipping
TYMOBA-EE-2021/(MBA)(SET-Y)/(D) _ 4 ~ P.T.O.
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74.  According to the text, which of thesc crafts was nof Pmc“CCd in Chanhudaro ?
(1) Weight making
(2) Scal making
(3) Metal cutting
(4) Paper making
75.  Shell objects were mostly madc.al Nageshwar and Balakot because :
(1) the women loved to wear bangles made of shells |
(2) shells were readily available in these coastal areas
3) specia‘lizcd drills were found here
(4) shells were transported here from Lothal .

Direction for [Question No. 76 & 77]:
A.B.C,D,E, F and G are sitting in a row facing North :
(I) Fis to the immediate right of E.
(2) E is 4th to the right of G.

(3) C s the neighbour of B and D.

(4) Person who is third to the left of D is at one of ends.

76. What is the position of A ?
(1) Between E and D
(2) Extreme left
(3) Centre
(4) Extreme right

TYMOBA-EE-2021/(M BA)(SET-Y)/(D)




77. Who are the neighbours of B?
(1) Cand D
(2) Cand G
(3) GandF
(4) CandE

78. Find out the missing no. in the following series :

32,48,72, ......... 162, 243
(1) 84

(2)I 96
(3)‘ 108
(4) 132

79.
(1) BTEAE
(2) BTAEA
(3) BATEA

(4) None of the above

80. If'FRANCE'is éoded as 10-22-5-18-7-9, 'then how will you code 'INDIA' ?
Based on the above pattern, the answers will be as follows.: '
(1) 13-17-6-12-4
(2) 13-18-8-13-5
(3) 12-17-7-12-5
(4) None of the above

TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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81.  Choose the word that is least Jike the other words in a group ?
(1) Calendar
(2) Date
(3) Day
(4) Month

82. Fruit: Banana : : Mammal : ?
(1) Snak.e
(2) Fish
(3) Sparrow
(4) Cow

83. Looking at a picture of a boy, Hemant said, "His mother is the wife of my father's son.
Brothers and sisters I have none." At whose picture was Hemant looking ?

(1) His cousin
(2) His son
(3) His uncle
(4) His nephew
Direction for [Question No. 84 & 85] : Study the following information carefully to answer

these questlons

A,B,C,D,E, Fand G are members of a sports club and have liking for different games, Vviz
Carrom, Table Tennis, Badminton, Bridge, Hockey, Football and Lawn Tennis but not
necessarily in the same order. Each one of them has a liking for different musical instruments,
viz Sitar, Guitar, Harmonium, Flute, Tabla,-Banjo and Santoor, not necessarily in the same
order. B likes Carrom and Banjo. E likes to play Bridge but not Harmonium or Tabla. The one
who plays Hockey plays Sitar. F plays Guitar but not Table Tennis or Lawn Tennjs. A plays
Badminton and Flute. The one who plays Lawn Tenms does not play Tab]a C plays

Harmonium and G plays Hockey.
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)



84. D plays which gamce ?
(1) Table Tennis
(2) Lawn Tennis
(3) Football

(4) Cannot be determined

85. Who plays Santoor ?
(1) D
(2) A
3) G
4 E

86. Find out the missing no. in the following series

2,5,8,11,14,17,.......... ,23, 26,
(1) 19 @21
(3)20 ‘ 4) 18

Direction for [Question No. 87 & 88] : Each question given below consists of a statement,
followed by two arguments numbered I and II. You have to decide which of the arguments is

a 'strong' argument.
87. Statement : Should higher eduéation be completely stopped for some time ?
Arguments : 1. No. It will hamper the country's future progress.
IL. Yes. It will reduce the educated unemployment. _
(‘1) Only argument I is strong |
(2). Only argument II is strong
(3) ‘Either I or II is strong
(4) Neither I nor II is strong

TYMOBA-EE-2021/(MBA)(SET-Y)/(D) P.T.O.
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, ake carc of their parents
88. Statement: Should children be legally made responsiblc t0 ta

during their old age ?

eans.
Arguments : 1. Yes, Such matter can only be solved by legal m .

. nts.
Il Yes. Only this will bring some relicf to poor parc

(1) Only argument [ is strong

(2) Only argument I1 is strong

(3) Either I or II is strong

(4) Neither I nor II is strong

. : ; : those
89. Kanmani ranked sixtcenth from the top and twenty ninth from the bottom among

who passed an cxamination. Six boys did not participate in the competition and five

failed in it. How many boys were there in the class ?
(1) 35
(2) 45
(3) 50
(4) 55
80. In a row of girls, Nithya and Suganya occupy ninth place from the right end and tenth
place from the left end, respectively. If they interchange their places, then '-I:\Iithya and

Suganya occupy seventeenth place from the right and eighteenth place from the left

respectively. How many girls are there in the row ?

(1) 22

(2) 24

(3) 26 LT

@) 28
TYMOBA-EE-2021/(MBA)(SET-Y)/(D)
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91. Statements: 1. Standard of living émong the middle-class society is constantly going
up since part of few ycars.
I Indian 'Economy is obscrving remarkable growth.
(1) Statement I is the causc and statement Il is its effect.
(2) Statement I1 is the cause and statement [ is its effect.
(3) Both the statements I and 11 are independent causes.
(4) Both the statements I and II are effects of independent causes.
92. Statements: I. Thc metcorological Department has issued a statement mentioning
deficient rainfall during monsoon in many parts of the country.

II. The Government has lowered the revised estimated GDP growth

from the level of earlier estimates.
(1) Statement I is the cause and statement I is its effect.
(2) Statement II is the cause and statement I is its effect.
(3) Both the statements I and II ére independent causes.
(4) Both the statements I and II are effects of independent causes.
93. Suman walks ~15 km towards North. She turns right and walks another 15 km. She turns
right and walks another 15 km. In which direction is she from the starting point ?
(1) North (2) South
(3) East : () West
94. Ravi walks 8 km North-East and then 6~ km South-East. Find the total distance as well
as shortest diste;ncge between starting and end points.
(1) 14 km, 12 km (2) 14 km, 10 km
(3) 10 km, 8 km (4) 8 km, 6 km
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Direction for [Question No. 95 & 96/ : Arrange the following in a logical or¢

95.

96.

97.

98.

99.

100.

1. Birth 2. Death

3. Funcral 4, Marriage

5. LEducation

(1) 1.3,4,5,2 (2) 2,3,4,5, 1 3) 1,5,4,2,3 4) 4,5,3, 1,2

1. Childhood 2. Adulthood
3. lnfahc_v 4. Adolescence
5. Babyhood

(1) 4.1,3,2,5 (2) 3,5,1,4,2 (3) 2,5,1,4,3 4) 5,4,2,3,1

If the following words are arranged in reverse dictionary order, which word comes
second ?

(1) Explosion (2) Express (3) Exploit (4) Expulse

Six friends A, B, C, D, E and F are sitting in a closed circle facing the center. E is to
the left of D. C is between A and B. F is between E and A. Who is to the right of C ?
(1) A (2) B 3) D . @4 E

_Choosc the missing term out of the given alternatives : QPO, NML, KIJI, ......... .

(1) HOF (2) CAB (3) JKL (4) GHI

Statement I: The Millennium Development Goals were adopted in the United
Nations in the year 2010.

Statement II : Developing a global partnership for development was one of the
Millennium Development Goals.

Which of the above statements is/are correct ?
(1) Only I (2) Only II
(3) BothlandII (4) Neither I nor II
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